
CHEMISTRY

BOOKS - A2Z CHEMISTRY (HINGLISH)

SOME BASIC PRINCIPALS OF ORGANIC CHEMISTRY

Inductive, Resonance, Mesomeric And Hyperconjugation

1. Inductive effect involve

A. Delocalisation of -electrons

B. Partial displacement of -electrons

C. Delocalisation of -electron

D. Displacement of lone pair

σ

σ

π

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_WExDSjW9zMil


Answer: B

Watch Video Solution

2. If  is mixed with  solution, acid-base reaction occurs

and snatches from organic molecule. Which carbon will lose

easily?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NaOH

P

Q

R

S

https://dl.doubtnut.com/l/_WExDSjW9zMil
https://dl.doubtnut.com/l/_CAXJCbqRnxmB
https://dl.doubtnut.com/l/_2KWt3V8N7RmE


3. The inductive effects of the group

 respectively are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−CH3, − COO− , − Br, − NH +
3

+I, − I, + I, + I

−I, + I, − I, + I

−I, − I, + I, + I

+I, + I, − I, − I

4. What is the correct increasing order of extent of

deprotonation of the following acids in its aqueous solution? 

(I) 


(II) 


(CH3)2CHCOOH

CH3CH2COOH

https://dl.doubtnut.com/l/_2KWt3V8N7RmE
https://dl.doubtnut.com/l/_NoZgxUURhHxq


(III)  


(IV) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cl2CHCH2COOH

CH3CCl2COOH

II < I < III < IV

IV < III < I < II

I < II < III < IV

I < IV < III < II

5. Select correct statement about  effect?

A.  effect transfers electrons from one carbon atom to

another.

B.  effect is the polarisation of  bond electrons.

I

I

I σ

https://dl.doubtnut.com/l/_NoZgxUURhHxq
https://dl.doubtnut.com/l/_jBLQ3y8ZqyYI


C.  effect creates net charge in the molecule.

D.  effect is distance independent.

Answer: B

Watch Video Solution

I

I

6. Decreasing  effect of given is: 


(i)  , (ii)  


(iii)  , (iv) 

A. 

B. 

C. 

D. 

−I

CN NO2

NH2 F

iii > ii > i > iv

ii > iii > iv > i

iii > ii > iv > i

ii > i > iv > iii

https://dl.doubtnut.com/l/_jBLQ3y8ZqyYI
https://dl.doubtnut.com/l/_qsRjhPpAaGVG


Answer: D

Watch Video Solution

7. Which of the following group shows  effects?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+I

−Br

−COOH

−OR

−COO −

8. Find the strongest acid among the following compound

https://dl.doubtnut.com/l/_qsRjhPpAaGVG
https://dl.doubtnut.com/l/_paTStXO8iL45
https://dl.doubtnut.com/l/_ADJqBMK4zQXB


A. Aspirin

B. Oil of winter green

C. O-methoxy carbonyl benzoic acid

D. Sodium Carbonate

Answer: C

Watch Video Solution

9. Which of the following alkyl groups has the maximum 

effect?

A. 

B. 

C. 

D. 

+I

(CH3)2CH −

(CH3)3C −

CH3CH2 −

CH3 −

https://dl.doubtnut.com/l/_ADJqBMK4zQXB
https://dl.doubtnut.com/l/_jyS1c5cujc5M


Answer: B

Watch Video Solution

10. Which of the following is the strongest  group?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−I

−
+

N(CH3)3

−
+

NH3

−
+

S(CH3)2

−F

https://dl.doubtnut.com/l/_jyS1c5cujc5M
https://dl.doubtnut.com/l/_ctNvdckH11fe


11. In which of the following species, incorrect direction of

Inductive effect is shown?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

12. The order of reactivity of the following alcohols towards conc.

 is HCI

https://dl.doubtnut.com/l/_oiAQMwccd7zP
https://dl.doubtnut.com/l/_SFbTpTvTxY8P


I.  II.  


III.  IV. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I > II > III > IV

I > III > II > IV

IV > III > II > I

IV > III > I > II

https://dl.doubtnut.com/l/_SFbTpTvTxY8P


13.  is more acidic than 

 because

A. Size of  is more than that of carbon

B. Electronegativity of carbon is less than that of silicon

C. Silicon is more electropositive than carbon due to which

 becomes less stable

D. None of the above

Answer: C

Watch Video Solution

(CH3)3CCH2COOH

(CH3)3SiCH2COOH

Si

(CH3)3SiCH2COO
−

14. For the following acids 

 
(CH3)
3
CCH2CO2H

( I )

 (CH3)
3

⊕

NCH2CO2H
( II )

 CH3COOH
( III )

https://dl.doubtnut.com/l/_xSPWqBOtTyIK
https://dl.doubtnut.com/l/_sbXWAF6F5tTE


 value will be in order

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

pKa

I > II > III

I < II < III

I > III > II

II > III > I

15. Which of the following acids has the smallest dissociation

constant?

A. 

B. 

C. 

CH3CHFCOOH

FCH2CH2COOH

BrCH2CH2COOH

https://dl.doubtnut.com/l/_sbXWAF6F5tTE
https://dl.doubtnut.com/l/_6cfkASSt5Zn3


D. 

Answer: C

Watch Video Solution

CH3CHBrCOOH

16. Assign number  for least to  for most to indicate the relative

base strength of the following 

A. 

B. 

C. 

D. 

1 4

I II

C6H5NH2 p − NO2C6H4NH2

III IV

m − NO2C6H4NH2 p − CH3OC6H4NH2

I II III IV

3 1 2 4

I II III IV

1 2 3 4

I II III IV

2 3 4 1

I II III IV

4 1 3 2

https://dl.doubtnut.com/l/_6cfkASSt5Zn3
https://dl.doubtnut.com/l/_XWLCf6Q75zs1


Answer: A

Watch Video Solution

17. ,  value of the compound decreases if  is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

pKa X

−NO2

−NH2

−OH

−OCH3

18. Which of the following pairs are resonating structures ?

https://dl.doubtnut.com/l/_XWLCf6Q75zs1
https://dl.doubtnut.com/l/_VigzGKTq7w33
https://dl.doubtnut.com/l/_ga3UIYq0jY9j


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

19. Which is the incorrect statement regarding resonance

contributing structures?

A. All atoms in a contributing structures must have complete

valence shells

B. All contributing structures must have same arrangement of

atoms

https://dl.doubtnut.com/l/_ga3UIYq0jY9j
https://dl.doubtnut.com/l/_46wj1nP3bpjQ


C. All contributing structures must have same number of

valence electrons.

D. Equivalent resonance structures have same potential

energies

Answer: A

Watch Video Solution

20. Polarization of electrons in acrolein may be written as:

A. 

B. 

C. 

D. 

δ−

CH2 = CH −
δ+

CH = O

δ+

CH2 = CH − CH =
δ+

O

δ−

CH2 = CH − CH =
δ+

O

δ+

CH2 = CH − CH =
δ−

O

https://dl.doubtnut.com/l/_46wj1nP3bpjQ
https://dl.doubtnut.com/l/_pESa1xdWuQy0


Answer: D

Watch Video Solution

21. The bond order of individual carbon-carbon bond in benzene

is

A. One

B. Two

C. Between one and two

D. One and two, alternately

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_pESa1xdWuQy0
https://dl.doubtnut.com/l/_TB4l41DSGc7S


22. What is the decreasing order of acidic strength of the

following compound for their most acidic hydrogen? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − CHO(I), CH3 − NO2(II), CH3 − CH = CH2(III)

I > II > III

III > II > I

III > I > II

II > I > III

23. Which is the most stable resonating structure?

A. 

https://dl.doubtnut.com/l/_CKDa6WSlJ2r6
https://dl.doubtnut.com/l/_LO8I4QaaNSHR


B. 

C. 

D. 

Answer: B

Watch Video Solution

24. Resonance effect involves:

A. Delocalisation of -electrons along a conjugated system.

B. Delocalization of lone pair along a conjugated system.

C. Delocalisation of negative charge along a conjugated

system.

D. All are correct.

π

https://dl.doubtnut.com/l/_LO8I4QaaNSHR
https://dl.doubtnut.com/l/_rrzcYavBtlA2


Answer: D

Watch Video Solution

25. During delocalization, which statement is incorrect:

A. Net charge remains same

B. Number of paired electrons remain same

C. Number of unpaired electrons remain same

D. Energy of resonating structures remain same

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rrzcYavBtlA2
https://dl.doubtnut.com/l/_1fvAXCVqgy9n


26. Which of the following resonating structures of -methoxy- ,

-butadiene is least stable?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 1 3

Θ

CH2 − CH = CH − CH =
⊕

O − CH3

CH2 = CH −
Θ

CH − CH =
⊕

O − CH3

Θ

CH2 − C
⊕

H − CH = CH − O − CH3

CH2 = CH −
Θ

CH −
⊕

CH − O − CH3

27.  can be used as drying agent for

A. carboxylic acids

B. phenols

KOH

https://dl.doubtnut.com/l/_EoRvTK4i1s0J
https://dl.doubtnut.com/l/_FWPVydWfHJFM


C. amines

D. esters

Answer: C

Watch Video Solution

28. Which of the following statements is incorrect?

A. The energy of resonance hybrid is always less than that of

any resonating structure.

B. The resonace energy is the difference between the

enthalpies of formation of the molecule and the resonating

structure having maximum energy.

https://dl.doubtnut.com/l/_FWPVydWfHJFM
https://dl.doubtnut.com/l/_Cv5L7wWPhg3t


C. The resonance structures are hypothetical structure and

they do not represent any real molecule.

D. In delocalized structured of benzenes the -charge cloud is

spread equally above and below the plane of molecule.

Answer: B

Watch Video Solution

π

29. Which of the following statements regarding resonance is

 correct?

A. the different resonating structures of atomic nuclei

B. the different resonating structures differ in the

arrangement of electrons.

NOT

https://dl.doubtnut.com/l/_Cv5L7wWPhg3t
https://dl.doubtnut.com/l/_K1A59hbEyXwM


C. the hybrid structures has equal contribution from all the

resonating structures always.

D. None of the individual resonating structure explain all

characteristics of the molecule.

Answer: C

Watch Video Solution

30. Resonance energy is:

A. The potential energy difference between most stable

resonating structures and resonance hybrid

B. The potential energy difference between the least stable

resonating structures and resonance hybrid

https://dl.doubtnut.com/l/_K1A59hbEyXwM
https://dl.doubtnut.com/l/_DMPjTO8nEq7g


C. The potential energy difference between the least stable

and most stable resonating structures.

D. None

Answer: A

Watch Video Solution

31. Which of the following species cannot show resonance?

A. 

B. 

https://dl.doubtnut.com/l/_DMPjTO8nEq7g
https://dl.doubtnut.com/l/_7pmR6Yq1Cjws


C. 

D. 

Answer: A

Watch Video Solution

32. Resonance is not possible in:

A. 

B. 

https://dl.doubtnut.com/l/_7pmR6Yq1Cjws
https://dl.doubtnut.com/l/_hEbx1Hkybv2f


C. 

D. 

Answer: A

Watch Video Solution

CH2 = CH − Cl

33. Which does not have conjugate system?

A. 

B. 

C. 

D. 

CH2 = CHCl

CH2 = CHCHO

CH3CH = CH2

https://dl.doubtnut.com/l/_hEbx1Hkybv2f
https://dl.doubtnut.com/l/_1Jpkr6i4h9gp


Answer: C

Watch Video Solution

34. The compound which is not resonance stabilised

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH2 = CH − Cl

CH2 = CH − CH2 − Cl

https://dl.doubtnut.com/l/_1Jpkr6i4h9gp
https://dl.doubtnut.com/l/_G7eWGCubtsOe
https://dl.doubtnut.com/l/_LxGfnW4094Cl


35. In which of the following first resonating structure is more

stable than the second?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Θ

CH2 − CH = O ↔ CH2 = CH − OΘ

⊕

CH2 − O − CH3 ↔ CH2 =
⊕

O − CH3

CH2 = CH − NH2 ↔
Θ

CH2 − CH =
⊕

NH2

⊕

O − CH = CH2 ↔ O = CH =
⊕

CH2

36. The correct stability order of the following resonance

structure is: 

CH2 = C = O H2

−

C −
+

C = O H2O =
+

C −
−

O H2

−

C − C ≡ O

(I) (II) (III) (IV)

https://dl.doubtnut.com/l/_LxGfnW4094Cl
https://dl.doubtnut.com/l/_yIYRFU3OADFn


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(IV ) > (I) > (III) > (II)

(II) > (IV ) > (I) > (III)

(III) > (II) > (IV ) > (I)

(I) > (IV ) > (III) > (II)

37. Which is the most stable resonating structure?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_yIYRFU3OADFn
https://dl.doubtnut.com/l/_AJ1Z1zuco9HA


D. 

Answer: B

Watch Video Solution

38. The correct stability order of given resonating structures 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I > II > III > IV

IV > III > II > I

I = II = III = IV

II = III > I = IV

https://dl.doubtnut.com/l/_AJ1Z1zuco9HA
https://dl.doubtnut.com/l/_94m5gajm2aiO


39. Which of the following group shows  effects?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+m

−CN

−O − NO

−CCl3

−CHO

40. Which of the following group show  effect?

A. 

B. 

−m

−CMe3

−O −

O

∣ ∣

S
∣ ∣

O

− O − R

https://dl.doubtnut.com/l/_ey2Vq4I2qQxR
https://dl.doubtnut.com/l/_WTlD7khmKEDY


C. 

D. 

Answer: D

Watch Video Solution

−NH −

O

∣ ∣

C − CH3

−

O

∣ ∣

S
∣ ∣

O

− O − R

41. Which of the following group shown  effect?

A. 

B. 

C. 

D. 

Answer: B

+m > − I

−F

−O −

O

∣ ∣

C − R

−C
∣ ∣

O

− R

−COOH

https://dl.doubtnut.com/l/_WTlD7khmKEDY
https://dl.doubtnut.com/l/_nO8cnzDzSa5J


Watch Video Solution

42. Which of the following group show  and  effect?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−m −I

−NO2

−NH2

−OH

−Cl

43. Identify which of the following group as  as well as ?

A. 

+M −M

−F

https://dl.doubtnut.com/l/_nO8cnzDzSa5J
https://dl.doubtnut.com/l/_2ndpK5SUaniW
https://dl.doubtnut.com/l/_iYxMjxtexJsy


B. 

C. 

D. 

Answer: C

Watch Video Solution

−NH2

−Cl

−OH

44.  and  both effects are shown by:

A. 

B. 

C. 

D. 

Answer: C

+m +I

−
. .

O
. .
H

−
..

NHCH3

−OΘ

−C(CH3)3

https://dl.doubtnut.com/l/_iYxMjxtexJsy
https://dl.doubtnut.com/l/_IGiYgm84pEfL


Watch Video Solution

45. The weakest  group of the given species by:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+m

−OCH3

−F

−I

−N(CH3)2

46. The most unlikely representation of resonance structure of -

nitrophenoxide ion is:

p

https://dl.doubtnut.com/l/_IGiYgm84pEfL
https://dl.doubtnut.com/l/_HoLgFO8yms1m
https://dl.doubtnut.com/l/_9Ub6zl8XMGwq


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_9Ub6zl8XMGwq


47. In which delocalisation of positive charge is possible?

A. 

B. 

C. 

D. 

Answer: D

https://dl.doubtnut.com/l/_9Ub6zl8XMGwq
https://dl.doubtnut.com/l/_6jhI83EpXJf0


Watch Video Solution

48. Resonance stabilized cation is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_6jhI83EpXJf0
https://dl.doubtnut.com/l/_jACkidB73d5G


49. Which of the following is not the correct resonating structure

of ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C6H5NH2

https://dl.doubtnut.com/l/_NOKV5d1GLuLq


50. Least contributing resonating structure of nitroethene is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

51. The least and most stable resonating structures respectively

are: 

https://dl.doubtnut.com/l/_NOKV5d1GLuLq
https://dl.doubtnut.com/l/_Q8D4Q4V33TXi
https://dl.doubtnut.com/l/_GNImYEOXPoh4


A. 2,1

B. 2,3

C. 3,1

D. 1,2

Answer: C

Watch Video Solution

52. Which of the following species does not have equally

contributing resonating structures?

A. 

B. 

CH3 −

O

∣ ∣

C − OΘ

CH2 = CH − CH = CH2

https://dl.doubtnut.com/l/_GNImYEOXPoh4
https://dl.doubtnut.com/l/_zPMMdzVaIzvF


C. 

D. 

Answer: D

Watch Video Solution

CH2 = CH − CH ⊕
2

53. The correct order of electron density in aromatic ring of

following compounds is: 

A. 

B. 

C. 

D. 

IV > III > II > I

I > II > III > IV

IV > II > I > III

IV > II > III > I

https://dl.doubtnut.com/l/_zPMMdzVaIzvF
https://dl.doubtnut.com/l/_UMvLUSzrzdk1


Answer: D

Watch Video Solution

54. Most stable radical among the following is:

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_UMvLUSzrzdk1
https://dl.doubtnut.com/l/_qnjWNCmzndRO


Answer: C

Watch Video Solution

55. Arrange the following radicals in decreasing order of their

stability. 

(I)  


(II)  

(III) 

A. 

B. 

C. 

D. 

Answer: B

⋅
CH3

CH3 −
⋅
CH2

IV > I > III > II

IV > III > II > I

I > II > III > IV

IV > III > I > II

https://dl.doubtnut.com/l/_qnjWNCmzndRO
https://dl.doubtnut.com/l/_4BPDOvaij1xo


Watch Video Solution

56. The hyperconjugative stabilities of tert-butyl cation and -

butane, respectively, are due to

A.  to (empty) and  to  electron delocalisations

B.  to  and  to  electron delocalisations

C.  to  (filled) and  to  electron delocalisations

D. (filled) to  and  to  electron delocalisations

Answer: A

Watch Video Solution

2

σ p σ π ∗

σ σ ∗ σ π

σ p σ π

p σ ∗ σ π ∗

57. Arrange the following increasing order of number of

hyperconjugation structures. 

https://dl.doubtnut.com/l/_4BPDOvaij1xo
https://dl.doubtnut.com/l/_gfgP30IFibdA
https://dl.doubtnut.com/l/_Xk1wUUgff4b3


(I)  


(II)  


(III) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 −
.

CH − CH3

CH3 −

CH3

∣

C H −
.

CH − CH3

CH3 −

CH3

∣

C
.

− CH3

I < II < III

II < I < III

III < II < I

II < III < I

58. Arrangements of

 when attached to(CH3)3C − , (CH3)2CH − , CH3. CH2 −

https://dl.doubtnut.com/l/_Xk1wUUgff4b3
https://dl.doubtnut.com/l/_8EBNlUhhPqe6


benzyl or  unsaturated group in increasing order of inductive

effects is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

n

(CH3)3C
− < (CH3)2CH

− < (CH3). CH2

CH3. CH −
2 < (CH3)2CH

− < (CH3)3C
−

(CH3)2CH
− < (CH3)3C

− < CH3. CH −
2

(CH3)3C
− < CH3. CH −

2 < (CH3)2CH
−

59. Hyperconjugation involves the overlapping of the following

orbitals :

A. -and -orbitals

B. -orbitals

p π

2π

https://dl.doubtnut.com/l/_8EBNlUhhPqe6
https://dl.doubtnut.com/l/_hWpcvt2ujTrT


C.  and -orbitals

D. - and -orbitals

Answer: D

Watch Video Solution

d π

σ p

60. Which of the following cannot exhibit hyperconjugation?

A. 

B. 

C. 

D. 

Answer: D

CH3

.

CH2

CH3CH = CH2

(CH3)3C −
+

CH2

https://dl.doubtnut.com/l/_hWpcvt2ujTrT
https://dl.doubtnut.com/l/_duDjlDedQ1Lb


Watch Video Solution

61. Which of the following alkenes will show maximum number of

hyperconjugation forms?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH2 = CH2

CH3 − CH = CH2

CH3 − CH2 − CH = CH2

CH3 −

CH3

∣

CH − CH = CH2

62. Which one of the following has inductive, mesomeric and

hyperconjugation effect?

https://dl.doubtnut.com/l/_duDjlDedQ1Lb
https://dl.doubtnut.com/l/_S6wpaW6g7h1h
https://dl.doubtnut.com/l/_l6OpsbMmvVRL


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3Cl

CH3 − CH = CH2

CH3CH = CH − C
∣ ∣

O

− CH3

CH2 = CH − CH = CH2

63. In which of the following  bond length is minimum?

A. 

B. 

C = C

https://dl.doubtnut.com/l/_l6OpsbMmvVRL
https://dl.doubtnut.com/l/_OWY5exNgCnGA


C. 

D. 

Answer: B

Watch Video Solution

64. Which of the following is correct about the following

compound 

A. All the  bond length are same

B.  bond length is shorter than  bond length

C.  bond length is greater than  bond length

C − C

C1 − C2 C2 − C3

C1 − C2 C2 − C3

https://dl.doubtnut.com/l/_OWY5exNgCnGA
https://dl.doubtnut.com/l/_HStKMB51M0cn


D. All the  bond length are equal to  bond

length of benzene

Answer: B

Watch Video Solution

C − C C − C

65. In which case the  bond pair and  bond pair of electrons

both are attracted in the same direction (towards same atom):

A. 

B. 

C. 

D. 

Answer: C

W h Vid S l i

σ π

H2C = CH = Cl

CH3 − CH2 − NH2

H2C = CH − CH = O

H2C = CH − OCH3

https://dl.doubtnut.com/l/_HStKMB51M0cn
https://dl.doubtnut.com/l/_JczME7MeJgEP


Watch Video Solution

66. The correct heat of hydrogenation order of 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

III > I > II > IV

I > III > II > IV

II > I > IV > III

III > IV > II > I

67. The minimum magnitude of heat of hydrogenation per mole

of molecule is of:

https://dl.doubtnut.com/l/_JczME7MeJgEP
https://dl.doubtnut.com/l/_ZnxmMydKt5Wl
https://dl.doubtnut.com/l/_tIaoXH3Jxm1X


Acid And Basic Strength

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_tIaoXH3Jxm1X


1. Select the decreasing order of relative basic strengths of

following species: 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

II > IV > I > III

III > I > IV > II

III > IV > I > II

II > I > IV > III

2. The correct increasing order of basic strength of the labeled 

is: 

N

https://dl.doubtnut.com/l/_eYQB3rAYF9WV
https://dl.doubtnut.com/l/_WpwAuBMpGzvi


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I < II < III < IV

I < II < IV < III

I < III < IV < II

IV < III < II < I

https://dl.doubtnut.com/l/_WpwAuBMpGzvi


3. Among the following compounds, the strongest acid is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HC ≡ CH

C6H6

C2H6

CH3OH

4. The correct order of nucleophilicity among the following is: 

 


(II)  


(I)CH3 − C
∣ ∣

O

− O−

CH3O
−

https://dl.doubtnut.com/l/_7GMaWUbvGnbf
https://dl.doubtnut.com/l/_wkurNCfLehZ0


(III)  


(iv) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CN −

I > II > III > IV

IV > III > II > I

II > III > I > IV

III > II > I > IV

5. Find the order of basic strength, (if ).


(I)  


(III)  , (IV) 

R = Me

R4OH
− , (II)R3N

R2NH RNH2

https://dl.doubtnut.com/l/_wkurNCfLehZ0
https://dl.doubtnut.com/l/_ywfjqdSWA9nz


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I > III > IV > II

IV > III > I > II

II > IV > III > I

II > IV > I > III

6. Which is most basic in the following compounds?

A. 

https://dl.doubtnut.com/l/_ywfjqdSWA9nz
https://dl.doubtnut.com/l/_g7TvcTQsCD9o


B. 

C. 

D. 

Answer: C

Watch Video Solution

7. Select the basic order of following molecules. 

https://dl.doubtnut.com/l/_g7TvcTQsCD9o
https://dl.doubtnut.com/l/_HHAfoBktoOJT


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(IV ) > (I) > (III) > (IV )

(III) > (I) > (IV ) > (II)

(II) > (I) > (III) > (IV )

(I) > (III) > (II) > (IV )

8. Out of the following compunds, which will have a zero diopole

moment?

A. -dichloroethylene

B. cis- -dicholorethylene

C. trans dischloroethylene

D. None of these compounds

1, 1

1, 2

−1, 2 −

https://dl.doubtnut.com/l/_HHAfoBktoOJT
https://dl.doubtnut.com/l/_rIr7plJSXNik


Answer: C

Watch Video Solution

9. Arrange the following in increasing order of basic strength 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

II < I < III < IV

IV < III < II < I

IV < III < I < II

I < II < III < IV

https://dl.doubtnut.com/l/_rIr7plJSXNik
https://dl.doubtnut.com/l/_omET5MaZdViF


10. Choose the strongest base among the following:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_YDZMUz5zgHVW


11. Which of the following has lowest melting point?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − CH
∣

CH3

−

O

∣ ∣

C − NHCH3

CH3 − CH2 −

O

∣ ∣

C − NH − CH3

CH3CH2CH2 − C
∣ ∣

O

− NH − CH3

CH3 −

O

∣ ∣

C − N
∣

CH3

− CH3

12. Select the basic strength order of following molecules 

https://dl.doubtnut.com/l/_fI4LLgmYUe3j
https://dl.doubtnut.com/l/_OWNICtx2ripd


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

III > II > I

II > III > I

I > III > II

III > I > II

13.  

What is formed in the above reaction?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_OWNICtx2ripd
https://dl.doubtnut.com/l/_bLSSEk5Pntsi


Answer: D

Watch Video Solution

14. Consider thiol anion  and alkoxy anion .

Which of the following statements is correct?

A.  is less basic and less nucleophilic than 

B.  is less basic but more nucleophilic than 

C.  is more basic and more nucleophilic than 

D.  is more basic but less nucleophilic than 

Answer: B

Watch Video Solution

(RS Θ) (ROΘ)

RS Θ ROΘ

RS Θ ROΘ

RS Θ ROΘ

RS Θ ROΘ

https://dl.doubtnut.com/l/_bLSSEk5Pntsi
https://dl.doubtnut.com/l/_IhEKVF2xwTw6


15. The correct basic strength order of the following anions is:

A. 

B. 

C. 

D. `overset(Θ)(F) gt Hoverset(Θ)(O) gt CH-=overset(Θ)(C ) gt

CH_(2)=overset(Θ)(C)H gt overset(Θ)(N)H_(2) gt CH_(3)-

overset(Θ)(CH_(2))

Answer: C

Watch Video Solution

CH3 −
Θ

CH2 >
Θ

NH2 > CH2 =
Θ

CH > CH ≡
Θ

C > H
Θ

O >
Θ

F

Θ

NH2 > CH3 −
Θ

CH2 > CH2 =
Θ

CH > CH ≡
Θ

C >
Θ

F > H
Θ

O

CH3 −
Θ

CH2 > CH2 =
Θ

CH >
Θ

NH2 > CH ≡
Θ

C > H
Θ

O >
Θ

F

https://dl.doubtnut.com/l/_jIUWsE1gjzHi


16. Which of the following has the most acidic hydrogen ?

A. Hexanone

B. -Hexanedione

C. -Hexanedione

D. -Hexanedione

Answer: B

Watch Video Solution

3 −

2, 4

2, 5

2, 3

17. Which of the following cannot be a base?

A. 

https://dl.doubtnut.com/l/_7xxrJbpNfKdK
https://dl.doubtnut.com/l/_DXpCgPFQYJpX


B. 

C. 

D. 

Answer: D

Watch Video Solution

18.  

Arrange above phenol in increasing order of  value:

A. 

pKa

I < < II < III

https://dl.doubtnut.com/l/_DXpCgPFQYJpX
https://dl.doubtnut.com/l/_CT47fVWyFa8y


B. 

C. 

D. 

Answer: C

Watch Video Solution

III < I < II

III < II < I

I < III < II

19. Arrange the following compounds in decreasing order of their

acidic strength. 

A. 

B. 

C. 

D. 

IV < II < I < III

I < II < III < IV

IV < II < III < I

I < III < II < IV

https://dl.doubtnut.com/l/_CT47fVWyFa8y
https://dl.doubtnut.com/l/_Auzj8nQKrjNX


Answer: A

Watch Video Solution

20. Which compound would be least soluble in water?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − O − CH2 − CH2 − CH3

CH3 − CH2 − CH2 − CH2 − CH3

CH3 − CH2 − CH2 − CH2 − OH

CH3 − CH2 − O − CH2 − CH2

https://dl.doubtnut.com/l/_Auzj8nQKrjNX
https://dl.doubtnut.com/l/_yBzMR07zfxvY


21. Identify the correct order of boiling points of the following

compounds: ,  

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2CH2CH2OH
1

CH3CH2CH2CHO
2

CH3CH2CH2COOH
3

1 > 2 > 3

3 > 1 > 2

1 > 3 > 2

3 > 2 > 1

22. Most acidic hydrogen is present in:

https://dl.doubtnut.com/l/_fmtuHmuoXbZb
https://dl.doubtnut.com/l/_lJ7AvPwZQASS


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

(CH3CO)
3
CH

(CH3)
3
COH

23. The decreasing order of electron density on the ring is: 

A. 

B. 

III > II > I

II > III > I

https://dl.doubtnut.com/l/_lJ7AvPwZQASS
https://dl.doubtnut.com/l/_E2fRExkQYh2I


C. 

D. 

Answer: A

Watch Video Solution

I > III > II

III > I > II

24. The correct order of increasing basicity of the given conjugate

bases  is

A. 

B. 

C. 

D. 

Answer: D

W h Vid S l i

(R = CH3)

RCO¯̄̄O < HC ≡ ¯̄̄C < ¯̄̄R < ¯̄̄N̄ H2

¯̄̄R < HC ≡ ¯̄̄C < RCO¯̄̄O < ¯̄̄N̄ H2

RCO¯̄̄O < ¯̄̄N̄ H2 < HC ≡ ¯̄̄C < ¯̄̄R

RCO¯̄̄O < HC ≡ ¯̄̄C < ¯̄̄N̄ H2 < ¯̄̄R

https://dl.doubtnut.com/l/_E2fRExkQYh2I
https://dl.doubtnut.com/l/_DWnyfPI1UKL3


Watch Video Solution

25. Among the following compounds, the most acid is:

A. -nitrophenol

B. -hydroxybenzoic acid

C. -hydroxybenzoic acid

D. -toluic acid

Answer: C

Watch Video Solution

p

p

o

p

26. Correct dipole moment order is: 

, , 

A. 

CH2 = CH − Cl
( p )

CH3 − CH2 − Cl
( q )

CH2 = CH − CN
( r )

r > q > p

https://dl.doubtnut.com/l/_DWnyfPI1UKL3
https://dl.doubtnut.com/l/_EMLtk0FQTruX
https://dl.doubtnut.com/l/_0v0QC1hz87MD


B. 

C. 

D. 

Answer: A

Watch Video Solution

r > p > q

q > r > p

p > r > q

27. Which of the following compound is the strongest base?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_0v0QC1hz87MD
https://dl.doubtnut.com/l/_NRgU9ZvUKVsi


D. 

Answer: A

Watch Video Solution

28. Arrange in the order of increasing acidic strengths. 

A. 

B. 

C. 

X > Z > Y

Z < X > Y

X > Y > Z

https://dl.doubtnut.com/l/_NRgU9ZvUKVsi
https://dl.doubtnut.com/l/_7ZQbHo9PXv5X


D. 

Answer: A

Watch Video Solution

Z > X > Y

29. Find more basic between following pairs of compounds? 

 

A. 

B. 

C. 

D. 

Answer: D

(R)H2N −

O

∣ ∣

C − NH2
( I )

&NH2 −

NH

∣ ∣

C − NH2
( II )

(P ) − (I), (Q) − (II), (R) − (I)

(P ) − (II), (Q) − (I), (R) − (I)

(P ) − (II), (Q) − (I), (R) − (II)

(P ) − (II), (Q) − (II), (R) − (II)

https://dl.doubtnut.com/l/_7ZQbHo9PXv5X
https://dl.doubtnut.com/l/_FogWSY6dJKjW


Bond Fission, Reagents, Reactive Intermediates And Their Stability

Watch Video Solution

1. Which allylic carbocation is most stable?

A. 

B. 

C. 

D. All have same stability

Answer: C

Watch Video Solution

CH3 − CH = CH −
⊕

CH2

CH3 − CH = CH −
⊕

CH − CH3

CH3 − CH = CH −
⊕

C
∣

CH3

− CH3

https://dl.doubtnut.com/l/_FogWSY6dJKjW
https://dl.doubtnut.com/l/_JTB12uOQ0o7S


2. What is the increasing order of basic strength of the following

compounds in aqueous solution? 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

III < I < II < IV

I < II < IV < III

I < II < III < IV

III < I < IV < II

3. In the following compounds, 

 

The order of acidity is:

https://dl.doubtnut.com/l/_g1oqLyEvOa2a
https://dl.doubtnut.com/l/_uLBncQ3Lzyu7


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

III > IV > I > II

I > IV > III > II

II > I > III > IV

IV > III > I > II

4. Arrange the carbonions, 

 in order of their

decreasing stability

A. 

B. 

C. 

(CH3)
3

−

C,
−

CCl3, (CH3)
2

−

CH, C6H5

−

CH2

C6H5
¯̄̄CH2 > ¯̄̄CCl3 > (CH3)

2
¯̄̄C > (CH3)

2
¯̄̄CH

(CH3)
2
¯̄̄CH > ¯̄̄CCl3 > C6H5

¯̄̄CH2 > (CH3)
2
¯̄̄C

¯̄̄CCl3 > C6H5
¯̄̄CH2 > (CH3)

2
¯̄̄CH > (CH3)

3
¯̄̄C

https://dl.doubtnut.com/l/_uLBncQ3Lzyu7
https://dl.doubtnut.com/l/_3HiiduFcnUzj


D. 

Answer: C

Watch Video Solution

(CH3)2
¯̄̄C > (CH3)2

¯̄̄CH > ¯̄̄CH2 > ¯̄̄CCl3

5. The most unstable carbocation is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3

+

CH2

Cl − CH2 −
+

CH2

+

CH2 − CHO

+

CH2 − O − CH3

https://dl.doubtnut.com/l/_3HiiduFcnUzj
https://dl.doubtnut.com/l/_YG74l6VfNwTS
https://dl.doubtnut.com/l/_5YOVeLqOQQpb


6. Which of the following is not an electrophile?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cl+

CH2 = CH2

Fe3 +

. + (NO2)

7. Most stable carbonium ion is :

A. 

B. 

C. 

p − NO2 − C6H4 − CH +
2

C6H5CH
+

2

p − Cl − C6H4 − CH +
2

https://dl.doubtnut.com/l/_5YOVeLqOQQpb
https://dl.doubtnut.com/l/_0utPuFnk0B5J


D. 

Answer: D

Watch Video Solution

p − CH3O − C6H4 − CH +
2

8. The order of stability of the following carbocations 

,  CH2 =
+

CH − CH2
( I )

CH3 − CH2 −
+

CH2
( II )

https://dl.doubtnut.com/l/_0utPuFnk0B5J
https://dl.doubtnut.com/l/_om1kpZiI40WP


A. 

B. 

C. 

D. 

III > II > I

II > III > I

I > II > III

III > I > II

https://dl.doubtnut.com/l/_om1kpZiI40WP


Answer: D

Watch Video Solution

9. The most stable carbocation is:

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_om1kpZiI40WP
https://dl.doubtnut.com/l/_G0UjjxiWskWt


Answer: B

Watch Video Solution

10. Write correct stability order of following compounds. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 > 4 > 3 > 1

4 > 2 > 3 > 1

2 > 3 > 1 > 4

1 > 2 > 3 > 4

https://dl.doubtnut.com/l/_G0UjjxiWskWt
https://dl.doubtnut.com/l/_jzV9DxV7qRv1


11. Which of the following is not a nucleophile?

A. 

B. 

C. 

D.  (benzene)

Answer: C

Watch Video Solution

Br−

:NH3

H +

C6H6

12. The stability order of following carbocation is 

A. 

B. 

i > ii > iv > iii

iii > i > ii > iv

https://dl.doubtnut.com/l/_VSy1iKf0glIu
https://dl.doubtnut.com/l/_0JvD4tE8FiiY


C. 

D. 

Answer: D

Watch Video Solution

iv > ii > iii > i

ii > iv > iii > i

13. The electrophile,  attacks the benzene ring to generate

the intermediate -complex. Of the following which -complex is

of lowest energy?

A. 

E ( ⊕ )

σ σ

https://dl.doubtnut.com/l/_0JvD4tE8FiiY
https://dl.doubtnut.com/l/_lO5nylLnkX2J


B. 

C. 

D. 

Answer: B

Watch Video Solution

14. The compound which would give the most stable carbocation

on dehydration is :

A. CH3 − CH
∣

CH3

− CH2OH

https://dl.doubtnut.com/l/_lO5nylLnkX2J
https://dl.doubtnut.com/l/_QQp2AwmZV2CV


B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

− OH

CH3 − CH2 − CH2 − CH2OH

CH3 − CH
∣

OH

− CH2CH3

15. Which of the following is the rearranged more stable

carbocation of the given species? 

A. 

B. 

CH3 −

CH3

∣

C
∣

CH3

−
⊕

CH − CH3 →

CH3 −

CH3

∣

C
∣

CH3

− C
⊕
H − CH3

CH3 −

CH3

∣

C
∣

CH3

− CH2 −
⊕

CH2

https://dl.doubtnut.com/l/_QQp2AwmZV2CV
https://dl.doubtnut.com/l/_YoDyZ4qCDiEM


C. 

D. 

Answer: C

Watch Video Solution

CH3 −

CH3

∣

C
⊕

−

CH3

∣

CH − CH3

CH3 −

CH3

∣

CH − CH
∣

CH3

−
⊕

CH2

16. Which of the following is the rearranged more stable

carbocation of the given species? 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_YoDyZ4qCDiEM
https://dl.doubtnut.com/l/_x4CobUXdxkwq


Answer: B

Watch Video Solution

17. Which of the following is the least stable carbanion?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HC ≡ C −

(C6H5)3C
−

(CH3)3C
−

CH −
3

https://dl.doubtnut.com/l/_x4CobUXdxkwq
https://dl.doubtnut.com/l/_TBhBY7QHy5do


18. Arrange the following carbocation in decreasing order of

stability. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I > III > II > IV

II > I > III > IV

IV > III > II > I

III > IV > II > I

19. Arrange the following carbocation in decreasing order of

stability. 

https://dl.doubtnut.com/l/_MyDhruwJj2GX
https://dl.doubtnut.com/l/_AISD85RP5z7s


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

III > I > IV > I

III > II > I > IV

I > III > II > IV

III > I > II > IV

20. Among the following, the paramagnetic species is:

A. Free radical

B. Carbonium ion

C. Carbanion

D. All the three

https://dl.doubtnut.com/l/_AISD85RP5z7s
https://dl.doubtnut.com/l/_uv5A107C3kJn


Answer: A

Watch Video Solution

21. The increasing order of stability of the following free radicals

is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(CH3)2

.

CH < (CH3)3

.

C > (C6H5)2

.

CH < (C6H5)3

.

C

(C6H5)3

.

C < (C6H5)2

.

CH < (CH3)3

.

C < (CH3)2CH

(C6H5)2

.

CH < (C6H5)3

.

C < (CH3)3

.

C < (CH3)2CH

(CH3)2

.

CH < (CH3)3

.

C < (C6H5)3

.

C < (C6H5)2CH

https://dl.doubtnut.com/l/_uv5A107C3kJn
https://dl.doubtnut.com/l/_soeWgntvI7Ri


22. The hybrid state of positively charged carbon in vinyl

 cation is :

A. The carbon is  hybridised to minimize angle strain

around pi-bond

B. The carbon is  hybridised to maximize -character in the

orbital with the lone pair

C. The carbon is  hybridized to minimize repulsion between

the bonding and non-bonding electrons

D. The carbon is  hybridized to help to stabilize the orbital

with the lone pair.

Answer: B

Watch Video Solution

(CH2 = CH + )

sp2

sp s

sp

sp

https://dl.doubtnut.com/l/_zrNOW0jE9j3A
https://dl.doubtnut.com/l/_69SS6iMTdpJa


23. The stability of given free radicals in decreasing order is 

(i)  , (ii)  


(iii) , (iv) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 −
.

CH2 CH3 − C
.

H − CH3

CH3 −
.

C
∣

CH3

− CH3

.

CH3

iii > iv > i > ii

i > ii > iii > iv

iii > ii > iv > i

iii > ii > i > iv

24. Which of the following is the correct order of stability of free

radicals?

https://dl.doubtnut.com/l/_69SS6iMTdpJa
https://dl.doubtnut.com/l/_anMhiZv1HsKx


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

benzyl > allyl > 2∘ > 1∘

allyl > benzyl > 2∘ > 1∘

allyl > 2∘ > 1∘ > benzyl

benzyl > 2∘ > 1∘ > allyl

25. In the following carbocations, the stability order is: 

A. 

B. 

C. 

D. 

III > II > IV > I

IV > I > II > III

IV > III > II > I

III > IV > II > I

https://dl.doubtnut.com/l/_anMhiZv1HsKx
https://dl.doubtnut.com/l/_qIFD98GMLpig


Answer: A

Watch Video Solution

26. The decreasing order of stability of the following cations is 

, , , 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3

+

CH2
I

H2C =
+

CH
II

H − C ≡
+

C
III

H3C −
+

C = 0
IV

I > III > II > IV

IV > III > II > I

III > IV > II > I

II > I > III > IV

https://dl.doubtnut.com/l/_qIFD98GMLpig
https://dl.doubtnut.com/l/_I4nFzpTjDVzR


27. Which of the following is most stable carbocation?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3

⊕

CH2

CH3

⊕

C = O

⊕

CH3 −
⊕

C = NH

CH2 =
⊕

CH

28. Which of the following is most stable carbocation?

A. 

B. 

C. 

CH3 −
⊕

CH2

⊕

CH2 − CHCl2

⊕

CH2 − CH2 − Cl

https://dl.doubtnut.com/l/_V2Eq9RjeaEFn
https://dl.doubtnut.com/l/_aYhhnXpPszI9


D. 

Answer: A

Watch Video Solution

⊕

CH2 − CCl3

29. The most stable carbocation is:

A. 

B. 

C. 

D. 

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_aYhhnXpPszI9
https://dl.doubtnut.com/l/_kvVzW10Y4sIg


Watch Video Solution

30. Arrange the following carbanions in decreasing order of

stability: 

 , , ,

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

. Θ (CH2) − Cl
( I )

. Θ (CH2) − CN
( II )

. Θ (CH2) − NO2
( III )

. Θ CH2 − CH3
( IV )

III > II > IV > I

III > II > I > IV

III > I > II > IV

II > III > I > IV

https://dl.doubtnut.com/l/_kvVzW10Y4sIg
https://dl.doubtnut.com/l/_Xi0vs3qXeWgL


Structure Isomerism

31. Give the stability order of following radicals: 

(I)  


(II)  


(III)  


(IV) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 −
⋅
CH2

CH3 −
⋅
CH − CH3

CH2 = CH −
⋅
CH − CH3

III > IV > II > I

IV > III > II > I

I > II > III > IV

IV > II > III > I

https://dl.doubtnut.com/l/_eep8A5oWstXO
https://dl.doubtnut.com/l/_LakJXaRKjIHT


1. Which compound is not the isomer of -Ethyle -

methylpentane?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3 −2

2. The compound which is not isomeric with diethyl ether is :

A. -propyl methyl ethern

https://dl.doubtnut.com/l/_LakJXaRKjIHT
https://dl.doubtnut.com/l/_IIKwnVPTCdPc


B. butan -ol

C. -methylpropan- -ol

D. butanone

Answer: D

Watch Video Solution

−1

2 2

3. Which of the following statements are correct? 

(I) A pair of positional isomers differs in the position of the same

functional group. 

(II) A pair of structural isomers have the same relative molar

mass. 

(III) A pair of functional group isomers belongs to different

homologous series.

A.  and II III

https://dl.doubtnut.com/l/_IIKwnVPTCdPc
https://dl.doubtnut.com/l/_MziLNOlcU7oU


B.  and 

C.  and 

D.  and 

Answer: C

Watch Video Solution

I III

I II

I, II III

4. An isomer of ethanol is:

A. methanol

B. diethyle ether

C. acetone

D. dimethyl ether

Answer: D

https://dl.doubtnut.com/l/_MziLNOlcU7oU
https://dl.doubtnut.com/l/_hkxtAouwmfa9


Watch Video Solution

5. The number of isomers of  is:

A. 4

B. 5

C. 6

D. 7

Answer: B

Watch Video Solution

C6H14

6. What is the correct relationship between the following

compounds? 

https://dl.doubtnut.com/l/_hkxtAouwmfa9
https://dl.doubtnut.com/l/_iUKkPHe2MCXZ
https://dl.doubtnut.com/l/_EDtaTr0o6SCj


 


A. Chain isomers

B. Position isomers

C. Functional isomers

D. Identical

Answer: A

Watch Video Solution

CH3 − CH2 − C
∣

CH3

H − CH2 − CH3

CH3 − CH2 − CH2 − CH2 − C
∣

CH3

H2

7. Which of the following statements regarding ethanoic acid and

methyl methanoate are correct? 

(I) They are functional group isomers with molecular formula

. C2H4O2

https://dl.doubtnut.com/l/_EDtaTr0o6SCj
https://dl.doubtnut.com/l/_tn2Lweh5q7PS


(II) They belong to different homologous series 

(III) They have different chemical properties.

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

I II

I, II III

II III

I III

8. Which of the following pairs is the chain isomer?

A. 

B. 

https://dl.doubtnut.com/l/_tn2Lweh5q7PS
https://dl.doubtnut.com/l/_vFEIlicoZIAO


C. 

D. 

Answer: B

Watch Video Solution

9. Which of the following statements concerning -dibromo- -

pentane and -dibromo- -pentane are correct? 


(I) They have same molecular formula  


(II) They are positional isomers. 

(III) They have similar chemical properties.

A.  and 

B.  and 

C.  and 

3, 4 1

3, 5 2

C5H8Br2

I III

I II

II III

https://dl.doubtnut.com/l/_vFEIlicoZIAO
https://dl.doubtnut.com/l/_nOxNgR5ubHNU


D.  and 

Answer: B

Watch Video Solution

I, II III

10. What is the relation between -Ethylpentane and -

Methylhexane?

A. Chain isomers

B. Position isomers

C. Functional isomers

D. Relation

Answer: A

Watch Video Solution

3 3

https://dl.doubtnut.com/l/_nOxNgR5ubHNU
https://dl.doubtnut.com/l/_O0sBRGg72uEd


11. How many structural isomers  have?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C4H8

5

4

3

6

https://dl.doubtnut.com/l/_8px9cBIjZhIJ


12.  


Relation between the above compound is:

A. Position isomers

B. Chain isomers

C. Identical

D. Functional isomer

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_gYXvUNLHcfr4
https://dl.doubtnut.com/l/_E40xZgVutIs3


13. Constitutional isomerism is possible in alkanes only if the

number carbon atoms present is

Watch Video Solution

14. Total number of position isomers of dimethyl cyclohexane.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

3

4

5

https://dl.doubtnut.com/l/_E40xZgVutIs3
https://dl.doubtnut.com/l/_djXhNXtqVpy9


15. How many structural isomers (aldehyde+ketone) are possible

for ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C5H10O

3

7

6

4

16. Which of the following shows functional isomerism?

A.  and 

B.  and 

CH3CH2Cl CH3CH2Br

CH3CH2Br CH2BrCH2Br

https://dl.doubtnut.com/l/_O6RZJSWH0vjd
https://dl.doubtnut.com/l/_l0sW3LRAOmzE


C.  and 

D.  and 

Answer: D

Watch Video Solution

C2H5OC2H5 CH3OC3H7

CH3CH2CHO CH3COCH3

17. Organic compound containing carbon, hydrogen and

nitrogen, can be either amine or nitrate. How many amine

isomers are possible with molecular formula ?

A. 

B. 

C. 

D. 

C4H11N

8

6

7

4

https://dl.doubtnut.com/l/_l0sW3LRAOmzE
https://dl.doubtnut.com/l/_z2XHVYPsZ7nG


Answer: A

Watch Video Solution

18. Which type of isomerism is observed between  and ? 


, 

A. Functional isomerism

B. Metamarism

C. Position isomerism

D. Stereoisomerism

Answer: B

Watch Video Solution

I II

CH3 − CH2 − C
∣ ∣

O

− OCH3

( I )

CH3 − C
∣ ∣

O

− OC2H5

( II )

https://dl.doubtnut.com/l/_z2XHVYPsZ7nG
https://dl.doubtnut.com/l/_uiGPdMTuQO7W
https://dl.doubtnut.com/l/_ffX1rMVHUog1


19. How many different structural isomers exist for  in

which no atom is  or -hybridised?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C3H6O

sp2 sp

2

5

4

3

20. The isomer of diethyl ether is

A. 

B. 

(CH3)2CHOH

(CH3)3COH

https://dl.doubtnut.com/l/_ffX1rMVHUog1
https://dl.doubtnut.com/l/_GWBqhk5zDsL6


C. 

D. 

Answer: B

Watch Video Solution

C3H7OH

(C2H5)2CHOH

21. How many structrural isomer exist for  where each

isomer contain a phenyl ring?

A. 

B. 

C. 

D. 

Answer: A

W h Vid S l i

C7H8O

5

4

3

6

https://dl.doubtnut.com/l/_GWBqhk5zDsL6
https://dl.doubtnut.com/l/_EVt553NBUvuW


Watch Video Solution

22. How many structrual isomers of tertiary amines

corresponding to molecular formula  are possible?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C6H15N

4

5

6

7

23. What is wrong about enantiomers of -chloropropanoic acid?

A. Have same solubility in water

2

https://dl.doubtnut.com/l/_EVt553NBUvuW
https://dl.doubtnut.com/l/_oIjWjR7OgJSr
https://dl.doubtnut.com/l/_feABqL8nbusJ


B. Have same rate of reactions with butanol

C. Have same refractive indices

D. Have same  value

Answer: B

Watch Video Solution

( + ) − 2 −

pKa

24. How many structural isomers are possible for compound

contaning  and  atoms only with their molar masses 

as well as the isomers are simultaneously ketons?

A. 

B. 

C. 

D. 

C, H O 100

3

4

5

6

https://dl.doubtnut.com/l/_feABqL8nbusJ
https://dl.doubtnut.com/l/_2HYIHCUgs9TZ


Answer: D

Watch Video Solution

25. Which of the following compound are structural isomers of

? 

(I) 2-methyl butanal 

(II) Propyl ethanoate 

(III) Pentanal

A.  and 

B.  and 

C.  and 

D.  and 

Answer: B

C6H10O

I II

I III

II III

I, II III

https://dl.doubtnut.com/l/_2HYIHCUgs9TZ
https://dl.doubtnut.com/l/_r2XZAuMTnx3H


Watch Video Solution

26. How many structural isomers are possible for compound

contaning  and  atoms only with their molar masses 

as well as the isomers are simultaneously ketons?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C, H O 100

5

6

7

8

https://dl.doubtnut.com/l/_r2XZAuMTnx3H
https://dl.doubtnut.com/l/_9ZOsd15KSs8X


27. An organic compound has three ether isomers and it is the

smallest ether which satisfy this condition. Which of the

following is true regarding this compound?

A. Only one alcohol isomers exist

B. Four alcohol isomers exist and they are constitutional

isomers

C. Five alcohol isomers exist and they are posibility isomers of

each other

D. Molecule formula of the compound is 

Answer: B

Watch Video Solution

C5H12O

https://dl.doubtnut.com/l/_QVzNgL7yOumq


Tautomerism

28. How many amide isomers are possible for ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C4H9ON

4

5

6

8

1. Among the following compounds, one that will not shown keto-

enol tautomerism is

https://dl.doubtnut.com/l/_gqkcBuAgIuKQ
https://dl.doubtnut.com/l/_3R6V6xyTVYE7


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2. Which statements about tautomerism is incorrect?

A. Tautomers always exist in equilibrium.

B. Tautomers can be separated by physical  chemical process./

https://dl.doubtnut.com/l/_3R6V6xyTVYE7
https://dl.doubtnut.com/l/_l1rJ1OOmmQl0


C. Tautomerism is a chemical phenomenon which takes place

in liquid and gaseous state and catalysed by acid as well as

base.

D. All tautomers are always functional group isomers.

Answer: D

Watch Video Solution

3. The enolic form of acetone contains:

A.  bonds,  bond and  lone pairs

B.  bond,  bond and  lone pairs

C.  bond,  bond and  lone pair

D.  bond,  bond and  lone pair

8σ 1π 2

8σ 2π 2

10σ 1π 1

9σ 2π 1

https://dl.doubtnut.com/l/_l1rJ1OOmmQl0
https://dl.doubtnut.com/l/_ZkTz4mL4RROB


Answer: A

Watch Video Solution

4. Arrange the following in the increasing order of stability of

their most stable enol. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I < II < III < IV

IV < III < II < I

II < I < IV < III

III < IV < II < I

https://dl.doubtnut.com/l/_ZkTz4mL4RROB
https://dl.doubtnut.com/l/_iwQOKNKHIovG
https://dl.doubtnut.com/l/_ZbHnkrVfORbq


5. Maximum enolisation takes place in

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3COCH3

CH2COCH2CHO

CH3COCH2COCH3

6. In hexane- -dione, how many different mono-enols are

possible?

A. 

B. 

2, 4

7

3

https://dl.doubtnut.com/l/_ZbHnkrVfORbq
https://dl.doubtnut.com/l/_v3h1pc15gLWe


C. 

D. 

Answer: A

Watch Video Solution

4

6

7. Tautomerism is not exhibited by

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_v3h1pc15gLWe
https://dl.doubtnut.com/l/_jj6qHaffUuoY


Answer: A

Watch Video Solution

8. Keto-enol tautomerism is observed in

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C6H5 −

O

∣ ∣

C − H

C6H5 −

O

∣ ∣

C − CH3

C6H5 −

O

∣ ∣

C − C6H5

C6H5 −

O

∣ ∣

C −

CH3

∣

C
∣

CH3

− C6H5

https://dl.doubtnut.com/l/_jj6qHaffUuoY
https://dl.doubtnut.com/l/_SfIpcKPeUVmK
https://dl.doubtnut.com/l/_Mxg3gSg3tH9x


9. Tautomerism will be exhibited by

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(CH3)2NH

(CH3)3CNO

R3CNO2

RCH2NO2

10. What is the correct order of equilibrium enol content of the

following compounds? 

(I)  


(II)  


(III)  


(IV) 

CH3COCH3

CH3COCH2COOC2H5

CH3COCH2COCH3

CH3COCH2COH

https://dl.doubtnut.com/l/_Mxg3gSg3tH9x
https://dl.doubtnut.com/l/_7CRvLgWcAXVN


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I > II > III > IV

III > IV > II > I

IV > II > III > I

I > IV > III > II

11. Which among the following compounds will give maximum

enol content in solution?

A. 

B. 

C. 

C6H5 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH3

CH3 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH3

CH3 −

O

∣ ∣

C − CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_7CRvLgWcAXVN
https://dl.doubtnut.com/l/_UH7QnBmb7sdO


D. 

Answer: A

Watch Video Solution

CH3 −

O

∣ ∣

C − CH2 − COOC2H5

12. Which of the following has greater enol content than keto

counterpart?

A. 

B. 

C. 

D. 

C6H5 − CH2CHO

CH3 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH3

https://dl.doubtnut.com/l/_UH7QnBmb7sdO
https://dl.doubtnut.com/l/_ZGifm5rlvpPx


Answer: B

Watch Video Solution

13. Which of the following has highest  enol content in the

liquid?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

%

https://dl.doubtnut.com/l/_ZGifm5rlvpPx
https://dl.doubtnut.com/l/_5l40GVttzOqE


14. In which of the following compound, enol form exists?

A. 

B. 

C. 

D. Both (a) and (c)

Answer: D

Watch Video Solution

C6H5COCH3

C6H5CHO

15. Arrange the following in the increasing order of acidic

strength 

 


(II)  


(I)H2CO

CH3CHO

https://dl.doubtnut.com/l/_dWuDOewqsTTJ
https://dl.doubtnut.com/l/_fUzm42Eeq1Sc


(III)  


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C6H5CH2CHO

(IV )CH3 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH3

I < II < III < IV

IV < III < II < I

III < IV < II < I

III < IV < I < II

16. The most stable keto isomer of the following compound 

 is

https://dl.doubtnut.com/l/_fUzm42Eeq1Sc
https://dl.doubtnut.com/l/_JJ9JPwcZVZpO


Geometrical Isomerism

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1. What is incorrect about geometrical isomerism?

A. In organic compounds, presence of a double bond is

essential for geometrical isomerism.

https://dl.doubtnut.com/l/_JJ9JPwcZVZpO
https://dl.doubtnut.com/l/_ynhXpy3RbTwC


B. Geometrical isomers can be separated by fractional

distiliation

C. It arises due to restricted rotation of atoms or groups

about double bond

D. A pair of geometrical isomers are simultaneously a pair of

diastereomers

Answer: A

Watch Video Solution

2. The -configuration in the following is

A. 

B. 

Z

https://dl.doubtnut.com/l/_ynhXpy3RbTwC
https://dl.doubtnut.com/l/_McW7MCuKD3mX


C. 

D. 

Answer: A

Watch Video Solution

3. Which show geometrical isomerism?

A. 

B. 

C. 

D. None of these

Answer: A

W h Vid S l i

https://dl.doubtnut.com/l/_McW7MCuKD3mX
https://dl.doubtnut.com/l/_AE9iJAVy04St


Watch Video Solution

4. Which of the following compounds will exhibit cis-trans

(geometrical ) isomerism ?

A. -Butene

B. -Butyne

C. -Butanol

D. Butanal

Answer: A

Watch Video Solution

2

2

2

5. How many geometrical isomers exist for the molecule shown

below? 

https://dl.doubtnut.com/l/_AE9iJAVy04St
https://dl.doubtnut.com/l/_CVSWl8sntI0e
https://dl.doubtnut.com/l/_fJQgdsp74GT4


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3

2

5

6

6. Which of them will not show geometrical isomerism?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_fJQgdsp74GT4
https://dl.doubtnut.com/l/_3yxAPPbZOQUb


D. 

Answer: D

View Text Solution

7. An alkene exists as geometrical isomers. The minimum number

of carbon atoms in the molecule is

A. 2

B. 3

C. 4

D. 6

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3yxAPPbZOQUb
https://dl.doubtnut.com/l/_pm9oOR2Zz1vV


8. Find total no. of geometrical isomers of following compound 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4

6

8

2

9. How many alkene isomers are possible for compound with

molecular formula ?

A. 

C5H10

3

https://dl.doubtnut.com/l/_4uagQWNBDqJB
https://dl.doubtnut.com/l/_BnNdhjvvCkZu


B. 

C. 

D. 

Answer: B

Watch Video Solution

6

5

4

10. Geometrical isomerism results because molecule has

A. A centre of symmetry

B. A plane of symmetry

C. The capacity to rotate the plane of polarized light

D. Two dissimilar groups attached to a double bond carbon

atom

https://dl.doubtnut.com/l/_BnNdhjvvCkZu
https://dl.doubtnut.com/l/_mWuUffsQT9y4


Answer: D

Watch Video Solution

11. Keto-enol tautomerism is not observed in:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C6H5 −

O

∣ ∣

C − H

C6H5 −

O

∣ ∣

C − CH3

C6H5 −

O

∣ ∣

C − CH(CH3)2

C6H5 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH3

https://dl.doubtnut.com/l/_mWuUffsQT9y4
https://dl.doubtnut.com/l/_ItqO3s0GhxkE


12. Which of the following cannot show geometrical isomerism?

A. 

B. 

C. 

D. All of the three

Answer: B

Watch Video Solution

CH3CH = CHC2H5

(CH3)2C = CHC2H5

CH3CH = CHCH3

13. Which of these will not show geometrical isomerism?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_28cKG2J2Rwzu
https://dl.doubtnut.com/l/_nxykRj4CVeuD


D. 

Answer: A

Watch Video Solution

14. Which of the following compounds will exhibits geometrical

isomerism ?

A. -Phenyl butane

B. -Phenyl propane

C. -Phenyl  butane

D. Diphenyl- -propane

Answer: A

Watch Video Solution

1 −2 −

3 −1 −

2 −1 −

1, 1 − 1

https://dl.doubtnut.com/l/_nxykRj4CVeuD
https://dl.doubtnut.com/l/_pqoOW7WalfYt


15. Which will show geometrical isomerism? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I, II, III, IV

I, II, III

I, III, IV

I, II, IV

16. The number of isomers for the compound with molecular

formula  is:C2BrClFI

https://dl.doubtnut.com/l/_pqoOW7WalfYt
https://dl.doubtnut.com/l/_9pEnwwLWkK5S
https://dl.doubtnut.com/l/_wi12WiEK7F7y


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3

4

5

6

17. Which of the following is not true for maleic acid and fumaric

acids?

A. Configurational isomers

B. Stereoisomers

C.  and  isomers

D. Optical isomers

Z E

https://dl.doubtnut.com/l/_wi12WiEK7F7y
https://dl.doubtnut.com/l/_iCbsoJ00dT83


Answer: D

Watch Video Solution

18. The total number of isomeric (including stereo) bromo-chloro-

fluoro-iodopropadiene is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

4

6

12

https://dl.doubtnut.com/l/_iCbsoJ00dT83
https://dl.doubtnut.com/l/_2BUp3MqAXuNf


19. Geometrical isomerism is possible in

A. Acetone-oxine

B. Isobutene

C. Acetophenone-oxime

D. Benzophenone-oxime

Answer: C

Watch Video Solution

20. How many total isomers exist for compound with

composition ?

A. 

B. 

C4H8

6

4

https://dl.doubtnut.com/l/_Sxw46HZUFnmY
https://dl.doubtnut.com/l/_sU0kM2FtXQdl


C. 

D. 

Answer: A

Watch Video Solution

2

8

21. How many different stereoisomers exist for -chloro- ( -

chlorocyclobutyl) ethane?

A. 

B. 

C. 

D. 

Answer: D

W h Vid S l i

1 2 3

2

7

5

4

https://dl.doubtnut.com/l/_sU0kM2FtXQdl
https://dl.doubtnut.com/l/_OdpCFIKfYxwa


Watch Video Solution

22. Which of the following will not show cis-trans isomerism?

A. Butanedioic acid

B. -dimethyl cyclopropane

C. -dichloroethene

D. Butanedioic acid

Answer: A

Watch Video Solution

1, 2

1, 2

23. Which compounds shown below has six isomers?

A. C2F2Cl2

https://dl.doubtnut.com/l/_OdpCFIKfYxwa
https://dl.doubtnut.com/l/_J0tELBxQTT8R
https://dl.doubtnut.com/l/_JbRrLsAMB388


B. 

C. 

D. 

Answer: B

Watch Video Solution

C2FClBrI

C2F2ClBr

C3H4Cl2

24. Which of the following has three different stereoisomers?

A. -hexadiene

B. -butadiene

C. -hexadiene

D. -heptadiene

Answer: A

2, 4

1, 3

2, 5

2, 4

https://dl.doubtnut.com/l/_JbRrLsAMB388
https://dl.doubtnut.com/l/_PxVpFezxnJ8U


Watch Video Solution

25. Which will form geometrical isomers?

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

CH3CH = NOH

26. Which type of isomerism cannot be shown by benzaldoxime?

A. Optical isomerism

https://dl.doubtnut.com/l/_PxVpFezxnJ8U
https://dl.doubtnut.com/l/_rPoGjtr0GoKg
https://dl.doubtnut.com/l/_bibUPQCLNsas


B. Functional group isomerism

C. Geometrical isomerism

D. Configuration isomerism

Answer: B

Watch Video Solution

27. A cyclic dichloride has a total five constitutional plus

geometrical isomers. Which of the following satisfy this condition

without altering the carbon skelton?

A. Dichloromethyl cyclopropane

B. Dichlorocyclopentane

C. Dichlorocyclopbutane

D. Dichlorocyclohexane

https://dl.doubtnut.com/l/_bibUPQCLNsas
https://dl.doubtnut.com/l/_724DDTQxf6VO


Answer: C

Watch Video Solution

28. How many cyclic isomers exist (structural and geometrical

only) for ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C3H3Cl3

2

5

4

3

https://dl.doubtnut.com/l/_724DDTQxf6VO
https://dl.doubtnut.com/l/_MQwl5CqQhqfK


29. Which of the following carbonyls has four different enol

isomers ?

A. hexanone

B. Butanone

C. pentanone

D. methyl pentanone

Answer: A

Watch Video Solution

3 −

2 −

2 − −3 −

30.  is

A. trans

B. 

CH3 − C
∣ ∣

Cl−C−Br

− Cl

Z

https://dl.doubtnut.com/l/_gsamWn0ZPRLa
https://dl.doubtnut.com/l/_kowh5cQuQObc


C. both correct

D. none of these

Answer: B

Watch Video Solution

31. Which compound below has four stereoisomers?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H − N = N − N = N − N

https://dl.doubtnut.com/l/_kowh5cQuQObc
https://dl.doubtnut.com/l/_CzpfycWnW8sH


32. How many cyclic isomers (structrural and geometrical only)

exist for ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C5H10

3

5

6

8

33. Geometrical isomers differ in:

A. position of functional group

https://dl.doubtnut.com/l/_CzpfycWnW8sH
https://dl.doubtnut.com/l/_yoRbnyMGkQio
https://dl.doubtnut.com/l/_0TS7lV6tXYey


B. spatial arrangement of atoms

C. position of atoms

D. length of carbon chain

Answer: B

Watch Video Solution

34. The correct stereochemical name of 

A. Methyl 2-methylhepta  dienote

B. Methyl -methylhepta  dienote

C. Methyl -methylhepta  dienote

D. Methyl -methylhepta  dienote

(2E, 5E)

2 (2Z, 5Z)

2 (2E, 5Z)

2 (2Z, 5E)

https://dl.doubtnut.com/l/_0TS7lV6tXYey
https://dl.doubtnut.com/l/_Y6YO2aZ0F1WT


Answer: D

Watch Video Solution

35. Which compound can show geometrical isomerism?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH = C(CH3)2

CH3CH = CH2

CH3CH = CHCH3

(CH3)2C = C(CH3)2

36. Which of the following not show cis-trans isomerism?

https://dl.doubtnut.com/l/_Y6YO2aZ0F1WT
https://dl.doubtnut.com/l/_7nwWMMdUVv65
https://dl.doubtnut.com/l/_TSq0ehDogjPd


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − C
∣

CH3

= CH − CH2 − CH3

CH3 − CH
∣

CH3

− CH = CH − CH2 − CH3

CH3 − CH = CH − CH3

CH3 − CH2 − CH = CH − CH2 − CH3

37. Which is a pair of geometrical isomers is ? 

A.  and 

B.  and 

C.  and 

(I) (II)

(I) (III)

(II) (IV )

https://dl.doubtnut.com/l/_TSq0ehDogjPd
https://dl.doubtnut.com/l/_WEArWTqfXyzs


D.  and 

Answer: C

Watch Video Solution

(III) (IV )

38. The alkene that exhibits geometrical isomerism is

A. propane

B. -methyl propene

C. -butene

D. methyl- -butene

Answer: C

Watch Video Solution

2

2

2 − 2

https://dl.doubtnut.com/l/_WEArWTqfXyzs
https://dl.doubtnut.com/l/_fuHQjeqeYb4u
https://dl.doubtnut.com/l/_mtwla1SQWNmU


39. Which of the following does not show geometrical

isomerism?

A. -Dichloro- -pentene

B. -Dichloro- -pentene

C. -Dichloro- -pentene

D. -Dichloro- -pentene

Answer: C

Watch Video Solution

1, 2 1

1, 3 2

1, 1 1

1, 4 2

40. The -isomer is

A. 

B. 

'Z'

https://dl.doubtnut.com/l/_mtwla1SQWNmU
https://dl.doubtnut.com/l/_0KUiehwrqRjR


C. 

D. 

Answer: D

Watch Video Solution

41. False statement is

A. Angle of rotation increases with increases in number of

asymmetric carbon atoms

B. Cis-isomer of a compound is more stable than trans form

C. Fumaric acid on heating produces fumaric anhydride

D. all of these

Answer: D

https://dl.doubtnut.com/l/_0KUiehwrqRjR
https://dl.doubtnut.com/l/_2fxiyGqQR5Ec


Watch Video Solution

42. Which of the following compound will exhibit cis-trans

isomerism?

A. But- -ene

B. Propene

C. But- -ene

D. Benzene

Answer: A

Watch Video Solution

2

1

43. The number of geometrical isomers for 

 isCH3 − CH = CH − CH = CH − CH = CH2

https://dl.doubtnut.com/l/_2fxiyGqQR5Ec
https://dl.doubtnut.com/l/_CpNxsCT8IL1B
https://dl.doubtnut.com/l/_3Ro04vYVOpR1


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2

4

6

8

44. Which of the following compound can show geometrical

isomerism?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_3Ro04vYVOpR1
https://dl.doubtnut.com/l/_uIAwntT9NKX4


D. 

Answer: c

Watch Video Solution

45. The number of isomers for the compound with molecular

formula  is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C2BrClFI

3

4

5

6

https://dl.doubtnut.com/l/_uIAwntT9NKX4
https://dl.doubtnut.com/l/_kJAQSdUlAuMM


46. Which will show geometrical isomerism?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

47. the correct stereochemical formula of trans- -chloro- -

phenylbut- -ene is

A. 

3 1

1

https://dl.doubtnut.com/l/_kJAQSdUlAuMM
https://dl.doubtnut.com/l/_kVzrI4qmz19Q
https://dl.doubtnut.com/l/_llK8TSnsrYpn


Optical Isomerism

B. 

C. 

D. 

Answer: D

Watch Video Solution

1. Which structures represents (s) diastereomers of ? 

A. Only 

B.  and 

C.  and 

I

II

III IV

II IV

https://dl.doubtnut.com/l/_llK8TSnsrYpn
https://dl.doubtnut.com/l/_7MLzSLjsA0y6


D.  and 

Answer: D

Watch Video Solution

II III

2. How many optically active stereiosomers are possible of

butane  diol?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2, 3

1

2

3

4

https://dl.doubtnut.com/l/_7MLzSLjsA0y6
https://dl.doubtnut.com/l/_eunlfJpujPC5


3. The instrument which can be used to measure optical activity,

i.e., specific rotation:

A. Refractometer

B. Photometer

C. Voltmeter

D. Polarimeter

Answer: D

Watch Video Solution

4. Which is true regarding a plane polarized light?

A. As it propagates, magnitude of electric vector varies

periodically but direction of polarization remains

https://dl.doubtnut.com/l/_erFWltJDSwtc
https://dl.doubtnut.com/l/_rnxaQnolEnpD


unchanged.

B. As it propagates,neither magnitudes nor direction of

electric vector varies

C. As it propagates, both magnitude of electric vector and

direction of polarization varies

D. Change in orientation of nicol prism has no effect on

direction of polarization.

Answer: A

Watch Video Solution

5. The optically active tartaric acid is named as 

tartaric acid because it has a positive

A. Optical rotation and is derived from -glucose

D − ( + ) −

D

https://dl.doubtnut.com/l/_rnxaQnolEnpD
https://dl.doubtnut.com/l/_vvYxwXOMZn3n


B.  in organic solvent

C. Optical rotation and is derived from 

glyceraldehyde

D. Optical rotation when substituted by deuterium.

Answer: C

Watch Video Solution

pH

D − ( + ) −

6. The smallest alcohol which exhibit optical acitivity is

A. -Butyl alcohol

B. Butan- -ol

C. Pentane ol

D. Butan -ol

n

1

2 −

−2

https://dl.doubtnut.com/l/_vvYxwXOMZn3n
https://dl.doubtnut.com/l/_06brZX5pU0ax


Answer: D

Watch Video Solution

7. What is the molecular formula for the alkane of smallest

molecular weight which possesses a stereogenic centre?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C7H16

C6H14

C5H12

C8H18

https://dl.doubtnut.com/l/_06brZX5pU0ax
https://dl.doubtnut.com/l/_G8OuWi5XWIdN


8. The structure  shows:

A. geometrical isomerism

B. optical isomerism

C. geometrical and optical isomerism

D. tautomerism

Answer: B

Watch Video Solution

9. How many optically active stereiosomers are possible of

butane  diol?

A. 

B. 

2, 3

1

2

https://dl.doubtnut.com/l/_7lx5C4N6FgV9
https://dl.doubtnut.com/l/_QFjC70bFOjoj


C. 

D. 

Answer: B

Watch Video Solution

3

4

10. At a given temperature and for a given wavelength of plane

polarized light, the fundamental property of an optically light,

the fundamental property of an optically active substance is

A. direction of specific rotation

B. magnitude of specific rotation

C. both magnitude and direction of specific rotation.

D. Neither magnitude nor direction of specific rotation.

https://dl.doubtnut.com/l/_QFjC70bFOjoj
https://dl.doubtnut.com/l/_tqvi2Nj3nLe9


Answer: C

Watch Video Solution

11. Which of the following compound is optically inactive?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − CH2 −

OH

∣

CH − CH3

12. Which of the following compounds exhibits stereoisomerism?

https://dl.doubtnut.com/l/_tqvi2Nj3nLe9
https://dl.doubtnut.com/l/_BC0LKGNJ3Yyh
https://dl.doubtnut.com/l/_hPJRVhOQRBoy


A. -methyl butene-

B. -methylbutyne

C. -methylbutanoic acid

D. -methylbutanoic acid

Answer: D

Watch Video Solution

2 1

3 −1

3

2

13. Which of the following is a comparatively significant factor

affecting the magnitude of specific optical rotation?

A. Concentration of the substance of interest

B. Experimental temperature

C. Purity of sample

D. Length of sample tube

https://dl.doubtnut.com/l/_hPJRVhOQRBoy
https://dl.doubtnut.com/l/_3f8evyr8AOPA


Answer: B

Watch Video Solution

14. The organic chloro compound, which shows complete

stereochemical inversion during a  reaction, is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

S2
N

(C2H5)2CHCl

(CH3)3CCl

(CH3)2CHCl

CH3Cl

https://dl.doubtnut.com/l/_3f8evyr8AOPA
https://dl.doubtnut.com/l/_INHH7jiERI61


15. The absolute configuration of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

S, S

R, R

R, S

S, R

16. Number of chiral carbon present in the following compound: 

A. 

CH3 − C
∣

OH

H − CH2 − C
∣

Br

H − C
∣

C2H5

H − CH3

2

https://dl.doubtnut.com/l/_LZDTsa6rlDpK
https://dl.doubtnut.com/l/_OMQT6DQOESIM


B. 

C. 

D. 

Answer: B

Watch Video Solution

3

4

5

17. Of the compounds, which corresponds to the general name

dichlorocyclobutane, how many are optically active?

A. 

B. 

C. 

D. 

0

4

3

2

https://dl.doubtnut.com/l/_OMQT6DQOESIM
https://dl.doubtnut.com/l/_W9w6EzoEgh2E


Answer: D

Watch Video Solution

18. The number of stereoisomers obtained by bromination of

trans- -butane is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2

1

2

3

4

https://dl.doubtnut.com/l/_W9w6EzoEgh2E
https://dl.doubtnut.com/l/_le3KFsNecesy


19. What can be said with certainity if a compound has

?

A. The compound is not a meso-isomer

B. The compound has -configuration

C. The compound has at least one chiral centre

D. The optical purity of compound is less than 

Answer: A

Watch Video Solution

[α]
25 ∘C

D1 = − 9.25∘C

R

100 %

20. Which of the following compound has  configuration?

A. 

B. 

' S'

https://dl.doubtnut.com/l/_sATwYUXMk7h1
https://dl.doubtnut.com/l/_ERR7SFqtPB9E


C. 

D. 

Answer: C

Watch Video Solution

21. If solution of a compound (  of solution ) has

measured rotation of  in a  long sample tube, the

specific rotation of this compound is

A. 

B. 

C. 

D. 

30g/100ml

+15∘ 2dm

+50∘

+7.5∘

+15∘

+25∘

https://dl.doubtnut.com/l/_ERR7SFqtPB9E
https://dl.doubtnut.com/l/_cPAsYubEqaGc


Answer: D

Watch Video Solution

22. Which statements is true about -dimethyl cyclobutane?

A. Only one stereomer is possible

B. Two sets of enantiomers are possible

C. Two diasteromeric forms are possible

D. Two enantiomers and a meso form are possible

Answer: C

Watch Video Solution

1, 3

23. Enantiomers are

https://dl.doubtnut.com/l/_cPAsYubEqaGc
https://dl.doubtnut.com/l/_paFH30n50JxP
https://dl.doubtnut.com/l/_V4DKaTStt3Nn


A. molecule that have at least one chiral carbon

B. non-superimposible molecules that are mirror images of

one another

C. non-superimposible constitutional isomers

D. non-superimposible molecules

Answer: B

Watch Video Solution

24. The correct configuration assigned for given compound 

A. 

B. 

C. 

2R, 3R

2S, 3S

2R, 3S

https://dl.doubtnut.com/l/_V4DKaTStt3Nn
https://dl.doubtnut.com/l/_EznfcEZw36bK


D. 

Answer: D

Watch Video Solution

2S, 3R

25. Out of following, the alkane that exhibit optical isomerism is

A. -methyl- -pentene

B. -methyl- -pentene

C. -methyl- -pentene

D. -methyl- -pentene

Answer: A

Watch Video Solution

3 1

4 1

3 2

2 2

https://dl.doubtnut.com/l/_EznfcEZw36bK
https://dl.doubtnut.com/l/_AnKY9TeCCqgy
https://dl.doubtnut.com/l/_j9tpyHRjLAua


26. Which of the following compound has  configuration?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

'D'

27. Which of the following is not true of enantiomers? They have

the same

A. specific rotation

B. melting points

https://dl.doubtnut.com/l/_j9tpyHRjLAua
https://dl.doubtnut.com/l/_Cy2iYxYyz3AG


C. boling points

D. density

Answer: A

Watch Video Solution

28. Total number of stereoisomers of compound is: 

A. 

B. 

C. 

D. 

Answer: B

CH3 − C
∣

OH

H − C
∣

Br

H − CH3

2

4

6

8

https://dl.doubtnut.com/l/_Cy2iYxYyz3AG
https://dl.doubtnut.com/l/_fHs1LNamiRmw


Watch Video Solution

29. How many chiral compounds are possible on

monochlorination of 2-Methyl butane ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2

4

8

6

30. Which of the following compounds is not chiral?

https://dl.doubtnut.com/l/_fHs1LNamiRmw
https://dl.doubtnut.com/l/_ef0P4SsWiGUN
https://dl.doubtnut.com/l/_pqgheOmxVowc


A. -chloro- -methyl pentane

B. -chloropentane

C. -chloro- -methyl pentane

D. -chloropentene

Answer: D

Watch Video Solution

3 2

2

1 2

1

31. Amongst the following compounds, the optically active alkane

having lowest molecular mass is:

A. 

B. 

C. 

CH3 − CH2 − C ≡ CH

CH3 − CH2 −

CH3

∣

CH − CH3

https://dl.doubtnut.com/l/_pqgheOmxVowc
https://dl.doubtnut.com/l/_q53IVzhnUhgy


D. 

Answer: C

Watch Video Solution

CH3 − CH2 − CH2 − CH3

32. The correct statement regarding a chiral compound is

A. It must has at least one chiral carbon

B. It should be devoid of any axis of symmetry

C. It may be superimposable on its mirror image

D. A compound contaning only one chiral carbon is always

chiral

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_q53IVzhnUhgy
https://dl.doubtnut.com/l/_aRzRbdjWVSJ5


33.  


Total number of stereoisomers in above compound is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − C
∣

Cl

H − C
∣

Br

H − C
∣

OH

H − CH3

6

4

8

6

34. The correct statements regarding elements of symmetry and

chirality of compound is

https://dl.doubtnut.com/l/_aRzRbdjWVSJ5
https://dl.doubtnut.com/l/_MsAOsZUG5dbf
https://dl.doubtnut.com/l/_oeGb0IO2rT3q


A. A compound with either plane or centre of symmetry is

always achiral

B. Centre of symmetry has no role to play in chirality of a

compound

C. Presence of an axis of symmetry destroy chirality

D. A compound with an axis of symmetry simutaneously

contain centre of symmetry.

Answer: A

Watch Video Solution

35. A hydrocarbon  is optically active  upon hydrogenation

gives an optically inactive alkane . Which of the following pair

of compounds can be  and  respectively?

X X

Y

X Y

https://dl.doubtnut.com/l/_oeGb0IO2rT3q
https://dl.doubtnut.com/l/_0w4W8zmRN2FR


A. methyl hexene and methyl hexane

B. methyl butene and methyl butane

C. methyl cyclopentene and methyl cyclopentane

D. methyl pentene and methyl pentane

Answer: D

Watch Video Solution

4 − −2 − 3 −

2 − −1 − 2 −

4 −

3 − −1 − 3 −

36. Which statements is wrong about symmetry?

A. Plane of symmetry is an imaginary plane which bisects the

molecule in two equal halves in such a way that each half of

the molecule is the mirror image of the other half.

https://dl.doubtnut.com/l/_0w4W8zmRN2FR
https://dl.doubtnut.com/l/_E3KPz5pjvDvM


B. Centre of symmetry is the point in a molecule through

which if a straight is the point in a molecule through which

if a straight line is drawn from any part of the molecule this

line encounters identical groups at equal distances in

opposite direction.

C. A molecule which does not prosses any element of

symmetry is called asymmetric molecule.

D. A molecule which does not posses any element of

symmetry is called symmetric molecule.

Answer: D

Watch Video Solution

37. What is true regarding a meso from of a compound?

https://dl.doubtnut.com/l/_E3KPz5pjvDvM
https://dl.doubtnut.com/l/_GDUIRmYQwysb


A. A meso form is achiral due to the presence of an axis of

symmetry

B. A meso form is achiral due to internal compensation of

optical rotation

C. A meso form cannot be isolated from its optically active

stereoisomer by fractional

D. A meso form does not contain any chiral carbon.

Answer: B

Watch Video Solution

38. How many different stereoisomers exist for the compound

below? 

https://dl.doubtnut.com/l/_GDUIRmYQwysb
https://dl.doubtnut.com/l/_QEgizLnzvjPL


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2

8

6

4

39. Total number of stereoisomers of compound is: 

A. 

B. 

C. 

CH3 −

Br

∣

CH − CH = CH −

Br

∣

CH − CH3

2

4

6

https://dl.doubtnut.com/l/_QEgizLnzvjPL
https://dl.doubtnut.com/l/_osWZAyTW1rDZ


D. 

Answer: C

Watch Video Solution

8

40. Which of the following compounds will have a mesoisomer

also?

A. -chlorobutane

B. -dichloropentane

C. -dichlorobutane

D. -hydroxy propanoic acid

Answer: C

Watch Video Solution

2

2, 3

2, 3

2

https://dl.doubtnut.com/l/_osWZAyTW1rDZ
https://dl.doubtnut.com/l/_uVX0OaHSJqS3


41. Which of the following species will be optically active

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H3C −

C2H5

∣

N − C3H7

42. How many cyclic isomers isomers (structrural and geometrical

only) exist for ?

A. 

B. 

C5H10

7

5

https://dl.doubtnut.com/l/_m0vrvtSOEGpx
https://dl.doubtnut.com/l/_FfgVcB1jOb5m


C. 

D. 

Answer: A

Watch Video Solution

3

8

43. Amongst the following compounds, the optically active alkane

having lowest molecular mass is:

A. 

B. 

C. 

D. 

Answer: B

CH3 − CH2 − CH3

CH3 − CH2 −

CH3

∣

CH − CH3

CH3 − CH2 − C ≡ C − H

https://dl.doubtnut.com/l/_FfgVcB1jOb5m
https://dl.doubtnut.com/l/_UOw85lGpGmuI


Watch Video Solution

44. If optical rotation produced by  is , then that

produced by  

A. 

B. 

C. 

D. unpredictable

Answer: B

Watch Video Solution

+36∘

−36∘

0∘

+36∘

https://dl.doubtnut.com/l/_UOw85lGpGmuI
https://dl.doubtnut.com/l/_UZT2HjBNaF6v


45. What is incorrect regarding cis -diborano-trans- , 4`-

dichlorocyclobutane?

A. It has plane of symmetry

B. It has total three stereoisomers

C. It has not chiral carbon

D. It has a centre of symmetry

Answer: D

Watch Video Solution

−1, 3 − 2

46. Racemic mixture is formed by mixing of two:

A. Isomeric compounds

B. Chiral compounds

https://dl.doubtnut.com/l/_47Vzu7ViLPcg
https://dl.doubtnut.com/l/_OtZP3E5thiew


C. Meso compounds

D. Optical isomers

Answer: D

Watch Video Solution

47. A similarly between optical and geometrical isomerism is

that?

A. Each forms equal number of isomers for a given compound

B. If in a compound one is present, then so is the other

C. Both are included in stereoisomerism

D. They have no similarity

Answer: C

W h Vid S l i

https://dl.doubtnut.com/l/_OtZP3E5thiew
https://dl.doubtnut.com/l/_GpMjviBL5JUL


Watch Video Solution

48. The parir of molecules shown are 

A. enantiomers

B. constitutional isomers

C. diastereomers

D. two conformations of the same molecule

Answer: C

Watch Video Solution

49. What is relationship between the following projections? 

https://dl.doubtnut.com/l/_GpMjviBL5JUL
https://dl.doubtnut.com/l/_A7P7EbYNvsCW
https://dl.doubtnut.com/l/_fPpNlPutUJed


A. enantiomers

B. Conformers

C. diastereomers

D. Structural isomers

Answer: B

Watch Video Solution

50. Among the following structures  to , it is true that: 


 

A. Only  is Chiral

B. Only  and  are Chiral

I IV

(I)C2H5 −

CH3

∣

C H − C3H7, (II)CH3 −

O

∣ ∣

C −

CH3

∣

C H − C2H5

(III)H −

H

∣

C
∣

H

+

, (IV )C2H5 −

CH3

∣

C H − C2H5

(III)

(II) (IV )

https://dl.doubtnut.com/l/_fPpNlPutUJed
https://dl.doubtnut.com/l/_auxC5y6KdWeo


C. All four are Chiral

D. Only  and  are Chiral

Answer: C

Watch Video Solution

(I) (II)

51. Which of the following compounds will have a mesoisomer

also?

A. -hydroxypropanoic acid

B. -dichloropentane

C. -dichlorobutane

D. -Chlorobutane

Answer: B

W h Vid S l i

2

2, 3

2, 3

2

https://dl.doubtnut.com/l/_auxC5y6KdWeo
https://dl.doubtnut.com/l/_MdbE7wHh48kl


Watch Video Solution

52. Out of following, the alkane that exhibit optical isomerism is

A. -methyl- -pentene

B. -methyl- -pentene

C. -methyl- -pentene

D. -methyl- -pentene

Answer: C

Watch Video Solution

3 2

4 1

3 1

2 2

53. The number of stereoisomers possible for a compound of the

molecular formula  is

A. 

CH3 − CH = CH − CH(OH) − Me

3

https://dl.doubtnut.com/l/_MdbE7wHh48kl
https://dl.doubtnut.com/l/_7NYEtqxTE6aS
https://dl.doubtnut.com/l/_EXtOpn6ap9Pp


Confirmational Isomerism

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

4

6

1. Which of the following molecules is expected to rotate the

plane polrized light?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_EXtOpn6ap9Pp
https://dl.doubtnut.com/l/_48yB6ckJSuov


D. 

Answer: A

Watch Video Solution

2. Which of the following will have the least hindered rotation

about carbon-carbon bonds?

A. Ethane

B. Ethylene

C. Acetylene

D. Hexachloroethane

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_48yB6ckJSuov
https://dl.doubtnut.com/l/_t4DSvJtsdvty


3. The most stable conformation of -fluoroethan- -amine is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2 2

4. In the Newman projection formula of the lost stable staggered

form of -butane, which of the following reasons is the causes of

its unstability?

A. van der Waals strain

n

https://dl.doubtnut.com/l/_rg3IbQhG3x7n
https://dl.doubtnut.com/l/_SlMFYg8IxQK8


B. Torsional strain

C. Combination of both

D. None of these

Answer: A

Watch Video Solution

5. The total number of conformations of ethane is:

A. 

B. 

C. 

D. Infinite

Answer: D

1

2

3

https://dl.doubtnut.com/l/_SlMFYg8IxQK8
https://dl.doubtnut.com/l/_ufgnzVVztiH0


Watch Video Solution

6. The two structures  and represent: 


A. Conformational isomers

B. Stereoisomers

C. Constitutional isomers

D. Identical

Answer: A

Watch Video Solution

I II

7. Which of the following correctely lists the configurations of

cyclohexane in order increasing potential energies?

https://dl.doubtnut.com/l/_ufgnzVVztiH0
https://dl.doubtnut.com/l/_RpFmNTshmrWH
https://dl.doubtnut.com/l/_6AfqrrikaAaE


A. Chair  Twist boat  Boat  Half-chair

B. Half-chair Boat  Twist boat  Chair

C. Chair  Twist boat  Half-chair  Boat

D. Chair Boat  Twist boat  Half-chair

Answer: A

Watch Video Solution

> > >

> > <

< < <

< < <

8. Identify the most stable conformer of -fluoro ethanol among

the following:

A. 

B. 

C. 

D. 

2

https://dl.doubtnut.com/l/_6AfqrrikaAaE
https://dl.doubtnut.com/l/_vu2GR8nXm2r3


Answer: C

Watch Video Solution

9. The isomers that can be interconverted through rotation

around a single bond are:

A. Conformers

B. Diastereomers

C. Enantiomers

D. Positional isomers

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_vu2GR8nXm2r3
https://dl.doubtnut.com/l/_2dsfvcJNy7sB


10. The correct energy graduation of different conformers is

A. Staggered  Skew  eclipsed

B. Skew  Staggered  eclipsed

C. Eclipsed  skew  staggered

D. Skew  staggered eclipsed

Answer: C

Watch Video Solution

> >

> >

> >

> >

11. Which statement is correct about anti-conformation of -

Chloropropane?

A. It is the most polar form

B. It has maximum torsional strain

1

https://dl.doubtnut.com/l/_FfMKDam8fyJp
https://dl.doubtnut.com/l/_aLK8Epa7tUwG


C. It has minimum steric strain

D. (a) and (b) both

Answer: D

Watch Video Solution

12. . There is free rotation about 

 bond. The same most stable formation is repeated after

rotation of

A. 

B. 

C. 

D. 

CH3 − CH2 − CH2 − CH3

(C2σ––C3)

60∘

120∘

240∘

360∘

https://dl.doubtnut.com/l/_aLK8Epa7tUwG
https://dl.doubtnut.com/l/_4lPrSzLiYRVj


Answer: D

Watch Video Solution

13. Which of the following statements is not true?

A. The different arrangement formed by rotations about a

single bond are called conformations.

B. The repulsion felt by the bonding electrons of one

substituent as they pass close to the bonding electrons of

another substituent is called steric strain.

C. The strain arises due to repulsion between electron clouds

of the interacting atom or groups is called steric strain.

D. The investigation of the various conformation of the

compound and their relative stabilities is called

https://dl.doubtnut.com/l/_4lPrSzLiYRVj
https://dl.doubtnut.com/l/_SRxD3XzCK3lf


conformation analysis.

Answer: B

Watch Video Solution

14. Which is not true regarding conformers of ethane?

A. Theoretically infinite conformations exist

B. By prices experimental setup, staggered conformer can be

separeted out of system

C. Increasing temperature increase the percentage of eclipsed

conformer

D. Staggered conformer has lower torsional strain than

eclipsed one

https://dl.doubtnut.com/l/_SRxD3XzCK3lf
https://dl.doubtnut.com/l/_DY1gnOSvsDPJ


Answer: B

Watch Video Solution

15. Which of the following is gauche conformer?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

16. Most stable form of cyclohexane is

https://dl.doubtnut.com/l/_DY1gnOSvsDPJ
https://dl.doubtnut.com/l/_54isGDYsILwH
https://dl.doubtnut.com/l/_qziepTH9LBzS


A. Boat

B. Chair

C. Skew

D. eclipsed

Answer: B

Watch Video Solution

17. In the given conformation, if  is rotate about  bond

anticlockwise by an angle of  then the conformation

obtained is 

A. fully eclipsed conformation

B. partially eclipsed conformation

C2 C2 − C3

120∘

https://dl.doubtnut.com/l/_qziepTH9LBzS
https://dl.doubtnut.com/l/_DbKhduFHgC5d


C. gauche conformation

D. staggered conformation

Answer: C

Watch Video Solution

18. When temperature is increased

A.  of eclipsed form increases

B.  of skew form increases

C.  of staggered form increases

D. No effect on any form

Answer: A

Watch Video Solution

%

%

%

https://dl.doubtnut.com/l/_DbKhduFHgC5d
https://dl.doubtnut.com/l/_jlJirZfMwZqz


19. In the given conformation isomers which of the following has

minimum torsional strain and minimum van der Waals strain. 

 

A. I

B. II

C. III

D. IV

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jlJirZfMwZqz
https://dl.doubtnut.com/l/_o2Wdv1v5LWSe


20. What are the type of isomers in following pairs? 

A. conformers

B. position

C. optical

D. Geometrical

Answer: A

Watch Video Solution

21. Select the correct statements/s:

A. Eclipsed and staggered ethanes give different products on

relation with chlorine in presence of light.

https://dl.doubtnut.com/l/_F737uFtVAu16
https://dl.doubtnut.com/l/_k1c2ACKbM7zh


B. The conformational isomers can be isolated at room

temperature.

C. Torsional strain in ethane is minimum at dihedrated angles

 and 

D. Steric strain is minimum in staggered gauche form of -

butane.

Answer: C

Watch Video Solution

60∘ , 180∘ 300∘

n

22. Which of the following statements regardings the projections

shown below is true? 

A. a and b both represented the same configuration

https://dl.doubtnut.com/l/_k1c2ACKbM7zh
https://dl.doubtnut.com/l/_SwwwI8tyYv1h


B. Both a and b are optically active

C. b alone is optically active

D. a alone is optically active

Answer: C

Watch Video Solution

23. which of the following compound has zero dipole moment in

one of the stable conformations?

A. 

B. 

C. (  or )

D. meso

HO − CH2 − CH2 − OH

CH3 − CHCl − CHBr − CH3

d 1 CH3 − CHCl − CHCl − CH3

−CH3 − CHCl − CHCl − CH3

https://dl.doubtnut.com/l/_SwwwI8tyYv1h
https://dl.doubtnut.com/l/_A6dQDXHZEm3P


Answer: D

Watch Video Solution

24. The identical compounds are: 

 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x, y

y, z

y, w

x, z

https://dl.doubtnut.com/l/_A6dQDXHZEm3P
https://dl.doubtnut.com/l/_Y5aS0W3YWB5B
https://dl.doubtnut.com/l/_3YjXOLz6iEzL


Section B - Assertion Reasoning

25. Which of the following conformer of butane has minimum

energy?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1. Assertion: tert-Butyl carbanion is less stable than methyl

carbanion. 

https://dl.doubtnut.com/l/_3YjXOLz6iEzL
https://dl.doubtnut.com/l/_iOAQwm5xxQD8


Reason: The -effect of the  groups tends to stablize the

tert-butyl carbanion.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

+1 CH3

2. Assertion  : All the  atoms of but-2-ene lie in one plane 


Reason : Double-bond  atoms are -hypbridised.

(A) C

(R) C sp2

https://dl.doubtnut.com/l/_iOAQwm5xxQD8
https://dl.doubtnut.com/l/_0OWm7cmSxMHi


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

3. Assertion: Carbon-oxygen bonds are of equal length in acetate

ion. 

Reason: Bond length decreases with the multiplicity of bond

between two atoms.

https://dl.doubtnut.com/l/_0OWm7cmSxMHi
https://dl.doubtnut.com/l/_ZwSdMWFg27PD


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

4. Assertion:  

 and  are resonating strucutres and  is resonance hybrid. 


Reason: The resonance hybrid is the hypothetical structure that

is considered to be a 'blend' of the real contributing structures.

I II III

https://dl.doubtnut.com/l/_ZwSdMWFg27PD
https://dl.doubtnut.com/l/_32c1pail7flU


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

5. Assertion: Alkyl carbonaions like ammonia have pyramidal

shape. 

Reason: The carbon carrying negative charge has an octet of

electrons.

https://dl.doubtnut.com/l/_32c1pail7flU
https://dl.doubtnut.com/l/_grksrXxO1BJ0


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is not

the correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

6. Assertion:  is more stable than  

Reason: 'I' has double bonds at anti position while  has

double bond on the same side, so  has lot of electronic

repulsion.

(II)

(I)

https://dl.doubtnut.com/l/_grksrXxO1BJ0
https://dl.doubtnut.com/l/_r6QQsnjsI2Bo


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is not

the correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

7. Assertion: Pyrrolidince  is more basic than pyrrole  


 

Reason: Protonated pyrrole has delocalisation of positive charge

in aromatic ring.

(II) (I)

https://dl.doubtnut.com/l/_r6QQsnjsI2Bo
https://dl.doubtnut.com/l/_2RGDXwJM09h2


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

8. Assertion: Salicyclic acid is much strogest than its -

isomers and benzoic acid itself. 

Reason: It is due to steric inhibitation to resonance, as 

group forces  out of the plane of ring.

m − p

−OH

−COOH

https://dl.doubtnut.com/l/_2RGDXwJM09h2
https://dl.doubtnut.com/l/_ry9u5q5mN7qG


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is not

the correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

9. Assertion:  and  are resonance

structures. 

Reason: Tautomers differ both in the position of atoms as well as

electrons.

CH3CHO CH2 = CHOH

https://dl.doubtnut.com/l/_ry9u5q5mN7qG
https://dl.doubtnut.com/l/_siagG8xQjYk4


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

10. Assertion: Ortho substituted benzoic acids are stronger than

benzoic acid. 

Reason: Ortho substituted tends to prevent coplanartity of

 with ring. Thus resonance is diminished which

increases acidic strength (ortho effects)

−COOH

https://dl.doubtnut.com/l/_siagG8xQjYk4
https://dl.doubtnut.com/l/_DLFZGBzhSybK


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

11. Assertion:  of fumaric acid is more than maleic acid. 


Reason: Conjugate base of fumaric acid is stabilised by

intramolecular -bonding.

pka1

H

https://dl.doubtnut.com/l/_DLFZGBzhSybK
https://dl.doubtnut.com/l/_f7TqPoxxsKWY


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

12. Assertion: Nitrenese cannot be isolated. 

Reason: Nitrenes are the nitrogen analogues of carbene

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

https://dl.doubtnut.com/l/_f7TqPoxxsKWY
https://dl.doubtnut.com/l/_Wdje7EwinkBe


B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

13. Assertion: Free redicals are always planer. 

Reason: They can achieve  as well as -hybridisation

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

sp2 sp3

https://dl.doubtnut.com/l/_Wdje7EwinkBe
https://dl.doubtnut.com/l/_Nu3Tq7H4Mnwp


C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

14. Assertion: Organic compound which do not contain chiral

carbon atoms cannot be optically active. 

Reason: An organic compound is optically active only when its

mirror image is non-superimposable irrespective of the fact ether

it contains a chiral carbon

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

https://dl.doubtnut.com/l/_Nu3Tq7H4Mnwp
https://dl.doubtnut.com/l/_N3sAotcJ9ix9


B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

15. Assertion: Stereoisomers which are not mirror image of each

other are called diastereomers. 

Reason: Disasteromers may or may not be optically acitve.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

https://dl.doubtnut.com/l/_N3sAotcJ9ix9
https://dl.doubtnut.com/l/_0YGTIDyDnKez


B. If both assertion and reason are true and the reason is not

the correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

16. Assertion: Enol form of cyclohexane- -trione is more

stable than its keto-form. 

Reason: It does not contain a-hydrogen atoms.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

1, 3, 5

https://dl.doubtnut.com/l/_0YGTIDyDnKez
https://dl.doubtnut.com/l/_ciVYYv4zXT2Q


B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

17. Assertion: Trihydroxyglutaric acid

 exists in

four stereoisomeric forms, two of which are optically acitve while

the other are meso-forms. 

Reason: It contains two asymmeric and one pseudo-asymmeric

carbon atom.

(HO2C − CHOH − CHOH − CHOH − CO2H)

https://dl.doubtnut.com/l/_ciVYYv4zXT2Q
https://dl.doubtnut.com/l/_wgeUe6i2cLQd


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

18. Assertion: There is evidence for existence of -

methylacetamide in two structural forms  and  as shown

below:  

Reason: Rotation about carbon-nitrogen bond is restricted due

to resonance.

N

I II

https://dl.doubtnut.com/l/_wgeUe6i2cLQd
https://dl.doubtnut.com/l/_tK8Tyo0yicS0


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

19. Assertion: Neopentane forms one mono substitutes

compound.

Reason: Neopentane is an isomer of pentane.

https://dl.doubtnut.com/l/_tK8Tyo0yicS0
https://dl.doubtnut.com/l/_u0YPKyVUc4Cm


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is not

the correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

20. Assertion: Trans- -butane on reaction with  gives meso-

dibromobutane. 


Reason: The reaction involves syn-addition of bromine.

2 Br2

2, 3 −

https://dl.doubtnut.com/l/_u0YPKyVUc4Cm
https://dl.doubtnut.com/l/_NLz5ORgGLkXG


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is not

the correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

21. Assertion: Cyclohexane exhibits keto-enol tautomerism. 

Reason: In cyclohexanone, one form contains the keto group

 while other contains enolic group .(C = O) ( − C = C − OH)

https://dl.doubtnut.com/l/_NLz5ORgGLkXG
https://dl.doubtnut.com/l/_LgtlWPSSmAkC


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is not

the correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

22. Assertion: Staggered form is less stable than the ecliped form

Reason: The conformation in which the bond pairs of two central

atoms are very far from one another is called stagered form.

https://dl.doubtnut.com/l/_LgtlWPSSmAkC
https://dl.doubtnut.com/l/_BdbvxMEG4xqE


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

23. Assertion: Trans isomers are more stable than cis isomers 

Reason: The cis isomer is the one in which two similar group are

on the same side of double bond.

https://dl.doubtnut.com/l/_BdbvxMEG4xqE
https://dl.doubtnut.com/l/_CNVFNF23g9Qg


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is not

the correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

24. Assertion: Propadiene is optically active. 

Reason: Propadiene has a plane of symmetry.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

https://dl.doubtnut.com/l/_CNVFNF23g9Qg
https://dl.doubtnut.com/l/_IIo7g4CTF8mr


B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

25. Assertion: Lactic acid is is optically active. 

Reason: A symmetry in the inner structure of the organic

compound causes optical activity.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

https://dl.doubtnut.com/l/_IIo7g4CTF8mr
https://dl.doubtnut.com/l/_C3jfsUSebqlg


AIPMT/ NEET Questions

B. If both assertion and reason are true and the reason is not

the correct explanations of the assertion

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

1. 

A. resonating structures

B. tautomers

C. geometrical isomers

https://dl.doubtnut.com/l/_C3jfsUSebqlg
https://dl.doubtnut.com/l/_fpV73VM8b5mt


D. optical isomers

Answer: A

Watch Video Solution

2. Geometrical isomers differ in:

A. position of functional group

B. Position of atoms

C. spatial arrangement of atoms

D. length of carbon chain

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_fpV73VM8b5mt
https://dl.doubtnut.com/l/_uUGriKRrJcNz
https://dl.doubtnut.com/l/_77qSEdKg4C5D


3. Which one is a nucleophilic substitution reaction among the

following?

A. 

B. 

C. 

D.  


Answer: D

Watch Video Solution

CH3CHO + HCN → CH3CH(OH)CN

CH3 + CH = CH2 + H2O
H +

−−→ CH3 − CH
∣

OH

− CH3

RCHO + R'MgX → R − CH
∣

OH

− R'

CH3 − CH2 −

CH3

∣

CH − CH2Br + NH3

→ CH3 − CH2

CH3

∣

CH − CH2NH2

4. The molecule formula of diphenyl methane is . 


 

C13H12

https://dl.doubtnut.com/l/_77qSEdKg4C5D
https://dl.doubtnut.com/l/_E5xSmszP3OaI


How many structural isomers are possible when one of the

hydrogen is replaced by a chlorine atom?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

6

4

8

7

5. Which one of the following pairs represent stereoisomerism?

A. Structural and geometrical isomerism

B. Linkage and geometrical isomerism

C. Chain and rotational isomerism

https://dl.doubtnut.com/l/_E5xSmszP3OaI
https://dl.doubtnut.com/l/_zp8ItEn2E9kZ


D. Optical and geometrical isomerism

Answer: D

Watch Video Solution

6. If there is no rotation of plane polarized light by a compound

in a specific solvent, thought to be chiral, it means that:

A. It is certainly meso

B. It is racemic mixture

C. it is certainly not chiral

D. no such compound

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_zp8ItEn2E9kZ
https://dl.doubtnut.com/l/_Gb4sTk4Kx58O


7. The most stable carbocation is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+

CH3

CH3

+

CH2

(CH3)2

+

CH

(CH3)3

+

C

8. Which of the following undergoes nucleophilic substitution

exclusively  mechanism?

A. Benzyl chloride

B. Isopropyl chloride

SN1

https://dl.doubtnut.com/l/_hFgBlSVNM6dR
https://dl.doubtnut.com/l/_fQPxuugNcebZ


C. Chlorobenzene

D. Ethyl chloride

Answer: A

Watch Video Solution

9. The chirality of the compound is 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

R

S

Z

I

https://dl.doubtnut.com/l/_fQPxuugNcebZ
https://dl.doubtnut.com/l/_xyDqXfLzKYpz


Watch Video Solution

10. Which of the following is not chiral?

A. -bromopentane

B. -hydroxy propanoic acid

C. -butanol

D. -dibromopentane

Answer: A

Watch Video Solution

3

2

2

2, 3

11. The correct order of nucleophilicity is

A. I − > Br− > Cl− > F −

https://dl.doubtnut.com/l/_xyDqXfLzKYpz
https://dl.doubtnut.com/l/_iVPhAg6tsTs2
https://dl.doubtnut.com/l/_6PHi8XMpclgY


B. 

C. 

D. 

Answer: A

Watch Video Solution

I − > Cl− > Br− > F −

F − > Cl− > Br− > I −

Cl− > Br− > F − > I −

12.  has a chiral centre. Which one

of the following represent its -configuration?

A. 

B. 

C. 

CH3 − CHCl − CH − CH3

R

H −

C2H5

∣

C
∣

Cl

− CH3

Cl −

C2H5

∣

C
∣

H

− CH3

H −

CH3

∣

C
∣

C2H5

− Cl

https://dl.doubtnut.com/l/_6PHi8XMpclgY
https://dl.doubtnut.com/l/_ugphlZyvufBG


D. 

Answer: B

Watch Video Solution

H3C −

C2H5

∣

C
∣

H

− Cl

13. Base strength of 

 and (3)  is in the order

of

A. 

B. 

C. 

D. 

Answer: C

(1)H3C
Θ

CH2, (2)H2C =
Θ

CH H − C ≡
Θ

C

(3) > (2) > (1)

(1) > (3) > (2)

(1) > (2) > (3)

(2) > (1) > (3)

https://dl.doubtnut.com/l/_ugphlZyvufBG
https://dl.doubtnut.com/l/_B9wYHtOGy93Q


Watch Video Solution

14. In a  substitution reaction of the type 


 


which one of the following has the highest relative rate?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

SN2

R − Br + Cl− DMF
−−→ R − Cl + Br+

CH3 − CH
∣

CH3

− CH2Br + Cl−

CH3 −

CH3

∣

C
∣

CH3

− CH2Br

CH3CH2Br

CH3 − CH2 − CH2Br

https://dl.doubtnut.com/l/_B9wYHtOGy93Q
https://dl.doubtnut.com/l/_UwAhofmlMN4j


15. The stability of carbanions in the following 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(2) > (3) > (4) > (1)

(4) > (2) > (3) > (1)

(1) > (3) > (2) > (4)

(1) > (2) > (3) > (4)

16. Which one of the following is the most reactive towards

electrophilic attack?

A. 

https://dl.doubtnut.com/l/_mC8V1Vu1S5sD
https://dl.doubtnut.com/l/_7BkhDH6CxkOw


B. 

C. 

D. 

Answer: B

Watch Video Solution

17. A strong base can abstract an -hydrogen from

A. amine

B. ketone

C. alkane

D. alkene

Answer: B

α

https://dl.doubtnut.com/l/_7BkhDH6CxkOw
https://dl.doubtnut.com/l/_qmBlIzeoBDWF


Watch Video Solution

18. How many stereoisomerse does this molecule has? 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH = CHCH2CHBrCH3

6

8

4

2

19. Which of the following reactions is an example of nucleophilic

substitution reaction?

https://dl.doubtnut.com/l/_qmBlIzeoBDWF
https://dl.doubtnut.com/l/_r3wGdLW2vgfU
https://dl.doubtnut.com/l/_r3WBnbTKCzzX


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

RX + M > oRMgX

RX + KOH → ROH + KX

2RX + 2Na → R − R + 2NaX

RX + H2 → RH + HX

20. In the following the most stable conformation of -butane is:

A. 

B. 

C. 

D. 

n

https://dl.doubtnut.com/l/_r3WBnbTKCzzX
https://dl.doubtnut.com/l/_Vrop6i8doYlT


Answer: B

Watch Video Solution

21. Which of the following conformers for ethylene glycol is the

most stable?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Vrop6i8doYlT
https://dl.doubtnut.com/l/_d0CQID1o9FKE


22. Which of the following species is not electrphilic in nature?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

⊕

Cl

BH3

H3

⊕

O

⊕

NO2

23. Considering the state of hybridization of carbon atoms, find

out the molecule among the following which is linear?

A. 

B. 

CH3 − CH2 − CH2 − CH3

CH3 − CH = CH − CH3

https://dl.doubtnut.com/l/_KpodMC2liqP3
https://dl.doubtnut.com/l/_H1ATNf97chx7


C. 

D. 

Answer: C

Watch Video Solution

CH3 − C ≡ C − CH3

CH2 = CH − CH2 − C ≡ CH

24. Which of the following acids does not exhibit optical

isomerism?

A. Lactic acid

B. Tartaric acid

C. Maleic acid

D. 

Answer: C

R −

H

∣

∗ C
∣

H

− COOH

α− amino acid

https://dl.doubtnut.com/l/_H1ATNf97chx7
https://dl.doubtnut.com/l/_JTFGdcaERhxv


Watch Video Solution

25. The order of stability of the following tautomeric compound

is 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

III > I > II

II > I > III

II > III > I

I > II > III

https://dl.doubtnut.com/l/_JTFGdcaERhxv
https://dl.doubtnut.com/l/_yEiG7RoFsVRQ


26. Given 

 ltbRgt Which of the given compound can exhibits

tautomerism

A. II and III

B. I,II and III

C. I and II

D. I and III

Answer: B

Watch Video Solution

27. The enolic form of ethyl acetoacetate as shown below has 

https://dl.doubtnut.com/l/_3GEwuO0y9u5h
https://dl.doubtnut.com/l/_lGqDY58DCxBn


A.  sigma bonds and pi bonds

B.  sigma bonds and  pi-bond

C.  sigma bonds and pi-bonds

D.  sigma bonds and  pi-bonds

Answer: C

Watch Video Solution

9 2

9 1

18 2

16 1

28. The number of structure isomers possible from the molecular

formula  is:

A. 

B. 

C. 

D. 

C3H9N

2

3

4

5

https://dl.doubtnut.com/l/_lGqDY58DCxBn
https://dl.doubtnut.com/l/_7UEP0zgwf66a


Answer: C

Watch Video Solution

29. Two possible stereostructures of , which

are optically active, are called:

A. Enatiomers

B. Mesomers

C. diastereomers

D. Astropisomers

Answer: A

Watch Video Solution

CH3CHOH. COOH

https://dl.doubtnut.com/l/_7UEP0zgwf66a
https://dl.doubtnut.com/l/_u76ZiRZTWQ6w


30. The pair of electrons in the given carbanion,  is

present in which of the following orbitals?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3C ≡ C Θ

sp

2p

sp3

sp2

31. The correct statement the comparison of staggered and

eclipsed conformations of ethan is:

https://dl.doubtnut.com/l/_3qPLjspKMG3K
https://dl.doubtnut.com/l/_uN50y1aF6w6K


A. The staggered conformation of ethane is more stable than

eclipsed conformation, because staggered conformation

has no torsional strain.

B. The staggered conformation of ethane is less stable than

eclipsed conformations has torsional strain.

C. The eclipsed conformation of ethane is more stable than

staggered conformations, because eclipsed conformations

has no torsional strain.

D. The eclipsed conformations of ethane is more stable than

staggered conformations even though the eclipsed

conformations has torsional strain.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_uN50y1aF6w6K


32. Which of the following biphenyls is optically active?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

33. The correct statement regrarding a carbonyl compound with

a hydrogen atom on the its alpha-carbon is:

A. a carbonyl compound with a hydrogen atom on its alpha-

carbon rapidly equilibrates with its corresponding enol and

https://dl.doubtnut.com/l/_5oZD2bbcQKKk
https://dl.doubtnut.com/l/_OX3i5sqBPcsk


this process is known as keto-enol tautomerism.

B. a carbonyl compound with a hydrogen atom on its alpha-

carbon never equilibrates with its corresponding enol.

C. a carbonyl compound with a hydrogen atom on its

corresponding enol and this process is known as aldehyde-

ketone equilibrations.

D. a carbonyl compound with a hydrogen atom on its alpha-

carbon rapidly equibrates with its corresponding enole and

this process is known as carbonyl cation.

Answer: A

Watch Video Solution

34. The correct statement regarding electrophile is:

https://dl.doubtnut.com/l/_OX3i5sqBPcsk
https://dl.doubtnut.com/l/_jb7spN6TWCvQ


A. Electrophile is a negatively charged species and can form a

bond by accepting of electrons from another electrophile

B. Electrophiles are generally neutral species and can form a

bond by accepting a pair of electrons from a nucleophile

C. Electrophile can be either neutral or positively charged

species and can form a bond by accepting pair of electrons

from a nucleophile

D. Electrphile is a negatively charged species and can form a

bond by accepting a pair of electrons from a nucleophile

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jb7spN6TWCvQ


35. Which of the following is correct with respect to  effect of

the substitutes? 

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

−I

(R = alkyl)

−NH2 ← OR ← F

−NR2 ← OR ← F

−NH2 > − OR > − F

−NR2 > − OR > − F

36. Which of the following carbocations is expected to be most

stable?

A. 

https://dl.doubtnut.com/l/_FW9zKayBj5cI
https://dl.doubtnut.com/l/_edEmYcwkJwrA


AIIMS Questions

B. 

C. 

D. 

Answer: C

Watch Video Solution

1. Number of  electrons present in naphthalene is

A. 

B. 

C. 

D. 

π

4

6

10

14

https://dl.doubtnut.com/l/_edEmYcwkJwrA
https://dl.doubtnut.com/l/_cpcGfpTg5OWG


Answer: C

Watch Video Solution

2. The shape of ethylene molecule is

A. square planar

B. furan

C. trigonal planar

D. tetrahedral

Answer: C

Watch Video Solution

3. The dipole moment is the highest for

https://dl.doubtnut.com/l/_cpcGfpTg5OWG
https://dl.doubtnut.com/l/_ryJKZ3yPXTmS
https://dl.doubtnut.com/l/_EKCCjcC925Lk


A. trans- butene

B. -Dimethylbenzene

C. acetophenone

D. ethanol

Answer: C

Watch Video Solution

2

1, 3

4.  bond length in benzene is

A. 

B. 

C. 

D. Different in different bonds

C − C

1.39Å

1.54Å

1, 34Å

https://dl.doubtnut.com/l/_EKCCjcC925Lk
https://dl.doubtnut.com/l/_pQ8X4W7giZ5a


Answer: A

Watch Video Solution

5. Which of the following can't be used in Fridel-Crafts reactions?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

FeCl3

FeBr2

AlCl3

NaCl

6. Among the following the strongest nucleophilic is

https://dl.doubtnut.com/l/_pQ8X4W7giZ5a
https://dl.doubtnut.com/l/_k1IH2TiKRJu1
https://dl.doubtnut.com/l/_LGp1xnoVdvgS


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C2H5SH

CH3COO
−

CH3NH2

NCCH −
2

7. Which is not found in alkanes?

A. Chain isomerism

B. Geometrical isomerism

C. Metamerism

D. Position isomerism

https://dl.doubtnut.com/l/_LGp1xnoVdvgS
https://dl.doubtnut.com/l/_kI7huSYJPHZz


Answer: C

Watch Video Solution

8. Meso-tartaric acid is optically inactive due to the presence of

A. molecular symmetry

B. molecular asymmetry

C. external compensation

D. two asymmetric -atom

Answer: A

Watch Video Solution

C

https://dl.doubtnut.com/l/_kI7huSYJPHZz
https://dl.doubtnut.com/l/_bojJ572rbRJ0


9. which one of the following pairs represents the

stereoisomerism?

A. Geometrica isomeris, position isomerism

B. Geometrical isomerism,conformational isomerism

C. Optical isomerism,geometrical isomerism

D. Optical isomerism,metamerism

Answer: C

Watch Video Solution

10. Diethyl ether is not associated with which one of these

isomers

A. Butanoic acid

https://dl.doubtnut.com/l/_Ot8JgVSIlJyo
https://dl.doubtnut.com/l/_3v2qFUTq4HFm


B. Methyl propionate

C. Stereoisomerism

D. None of these

Answer: D

Watch Video Solution

11. Diethyl ether and methyl  propyl ether are

A. position isomers

B. functional isomers

C. metamers

D. chain isomers

Answer: C

n

https://dl.doubtnut.com/l/_3v2qFUTq4HFm
https://dl.doubtnut.com/l/_wlyzeIwn68Nt


Watch Video Solution

12. The isomerism exhibits by alkyl cyanide and alkyl isocyanide is

A. functional

B. positonal

C. tautomerism

D. chain isomers

Answer: A

Watch Video Solution

13. Which of the following is a chiral compound?

A. Hexane

https://dl.doubtnut.com/l/_wlyzeIwn68Nt
https://dl.doubtnut.com/l/_Lk2PDG7py8Dz
https://dl.doubtnut.com/l/_WGgiXONJD7Pg


B. Methan

C. -butane

D. -trimethyl hexane

Answer: D

Watch Video Solution

n

2, 3, 4

14. Among the following the most stable compound is

A. cis- -cyclohenediol

B. trans- -cylcohexanediol

C. cis- -cyclohenediol

D. trans- -cyclohexanediol

Answer: D

1, 2

1, 2

1, 3

1, 3

https://dl.doubtnut.com/l/_WGgiXONJD7Pg
https://dl.doubtnut.com/l/_MW6WpJqL53w7


Watch Video Solution

15. In the given conformation, if  is rotate about  bond

anticlockwise by an angle of  then the conformation

obtained is 

A. fully eclipsed conformation

B. partially eclipsed conformation

C. gauche conformation

D. staggered conformation

Answer: C

Watch Video Solution

C2 C2 − C3

120∘

https://dl.doubtnut.com/l/_MW6WpJqL53w7
https://dl.doubtnut.com/l/_RCBSnayJDV8k


16. Among the following dissocitation constant is highest for .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C6H5OH

C6H5CH2OH

CH3C ≡ CH

CH3NH +
3 Cl−

17. Number of isomers of  is

A. 

B. 

C. 

C4H10

2

3

4

https://dl.doubtnut.com/l/_s7rSXD8xCoh3
https://dl.doubtnut.com/l/_80F16mKUCqME


D. Isomerism not exist

Answer: a

Watch Video Solution

18. Which of the following will have geometrical isomers ?

A. -methyl propene

B. -butane

C. -butene

D. Propene

Answer: B

Watch Video Solution

2

2

1

https://dl.doubtnut.com/l/_80F16mKUCqME
https://dl.doubtnut.com/l/_nMPNVKqlHkjo
https://dl.doubtnut.com/l/_9yvxSnQBwvcN


19. Which of the following is the most stable cation?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2

+

CHCH3

CH3 −
+

C
CH3

CH3

CH3CH2CH2

+

CH2

CH +
3

20. In a reaction of  the major product  is -

isomer, so the group  is

A. 

B. 

C6H5Y ( > 60 % ) m

Y

−COOH

−NH2

https://dl.doubtnut.com/l/_9yvxSnQBwvcN
https://dl.doubtnut.com/l/_Ck7T1EK0MVFZ


C. 

D. 

Answer: A

Watch Video Solution

−OH

−Cl

21. Among the following the aromatic compound is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Ck7T1EK0MVFZ
https://dl.doubtnut.com/l/_IGzE8T1ULz6A


22. Which of the following is the most stable cation?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2

+

CHCH3

CH3 −
+

C
CH3

CH3

CH3CH2CH2

+

CH2

CH +
3

23. Which of the following compounds is aromatic in nature?

A. 

B. 

https://dl.doubtnut.com/l/_IGzE8T1ULz6A
https://dl.doubtnut.com/l/_yvSiC1MKKNYy
https://dl.doubtnut.com/l/_cMaNQUAolf2p


C. 

D. 

Answer: A

Watch Video Solution

24. Which of the following is an electrophile?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CCl2

CH Θ
3

H2O

NH3

https://dl.doubtnut.com/l/_cMaNQUAolf2p
https://dl.doubtnut.com/l/_B39wRPii3ZxC


Assertion- Reasoning Questions

25. Arrange the following nucleophiles in the decreasing order of

nucleophilicity 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C, B, A, D

A, B, C, D

D, C, B, A

B, C, A, D

https://dl.doubtnut.com/l/_B39wRPii3ZxC
https://dl.doubtnut.com/l/_WIc7DGoVvxxi


1. Statement I: Molecules that are non-superimposable on their

mirror images are chiral. 

Statement II: All chiral molecules have chiral centres.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If the assertion is true but reason is false

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_g0dFefc9XpnT


2. Assertion: Diastereoisomers have different physical properties. 

Reason: They are non-superimpossible mirror images.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is not

the correct explanations of the assertion

C. If the assertion is true but reason is false

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bmldJv0bEyMN


3. Assertion: Maleic acid shows geometrical isomerism. 

Reason: It has  bond.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is not

the correct explanations of the assertion

C. If the assertion is true but reason is false

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

C = C

https://dl.doubtnut.com/l/_DVyWpxIAcQYC


4. Assertion: -dichloropentene has four stereoisomerse. 


Reason: It contains two chiral carbon atoms.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is not

the correct explanations of the assertion

C. If the assertion is true but reason is false

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

2, 3

https://dl.doubtnut.com/l/_zpPmECXYaVre


5. Assertion: Addition of  to -butene gives two optical

isomers. 

Reason: The product contains one asymmetric carbon atoms.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is not

the correct explanations of the assertion

C. If the assertion is true but reason is false

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

Br2 1

https://dl.doubtnut.com/l/_slElWxcXIdLw


6. Assertion: Trans- -butane on reaction with  gives meso-

dibromobutane. 


Reason: The reaction involves syn-addition of bromine.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If the assertion is true but reason is false

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

2 Br2

2, 3 −

https://dl.doubtnut.com/l/_Q6eBRRnz2FEx


7. Assertion: Hydroxyketones are not directly used in Grignard

reaction. 

Reason : Griganard reagnts react with hydroxyl group.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If the assertion is true but reason is false

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_zwGeXbe76wDu


Section D - Chapter End Test

8. Assertion: Benzyl bromide when kept in acetone water

produces benzyl alcohol. 

Reason: The reaction follows  mechanism.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If the assertion is true but reason is false

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

SN2

https://dl.doubtnut.com/l/_gZBKCYYyG929


1. Arrange the following comounds in increasing order of length

of their  bond. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C − N

IV < II < IV < III

III < IV < II < I

II < III < I < IV

II < IV < I < III

2. The order of heat of hydrogenation in following compounds is:

https://dl.doubtnut.com/l/_ypTZqT0CH0S4
https://dl.doubtnut.com/l/_Ify3uHnFfStx


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I < II < IV < III

III < IV < II < I

II < III < I < IV

II > IV > I < III

3.  reaction is faster in

A. 

B. 

C. 

SN1

CH3CH2Cl

CH3 −

CH3

∣

C
∣

CH3

− Cl

https://dl.doubtnut.com/l/_Ify3uHnFfStx
https://dl.doubtnut.com/l/_VwQlIdgQDQTa


D. 

Answer: C

Watch Video Solution

CH3 − CH
∣

∣

CH2

∣

CH3

− Cl

4. Which compound would be least soluble in water?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − O − CH2 − CH2 − CH3

CH3 − CH2 − CH2 − CH2 − CH3

CH3 − CH2 − CH2 − CH2 − OH

CH3 − CH2 − O − CH2 − CH2

https://dl.doubtnut.com/l/_VwQlIdgQDQTa
https://dl.doubtnut.com/l/_bV4V2Ppigbnf


5. Among the following compound which can be dehydrated very

easily is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − CH2 −

CH3

∣

C
∣

OH

− CH2 − CH3

CH3 − CH2 − CH2 −

OH

∣

C H − CH3

CH3 − CH2 − CH2 − CH2 − CH2 − OH

CH3 − CH2 − CH
∣

CH3

− CH2 − CH2 − OH

6. Which of the follwing is not the characteristic of the

mechanism of free radical halogenation chain reactions?

https://dl.doubtnut.com/l/_bV4V2Ppigbnf
https://dl.doubtnut.com/l/_H8hthSnU6ysk
https://dl.doubtnut.com/l/_0pud1VsKjQsu


A. It gives major product derived from most stable free

radicals

B. It is usually sensitive to change in solvent polarity

C. It proceeds in three main steps like initiation, propagations

and termination

D. It may be initiated  light

Answer: B

Watch Video Solution

UV

7. Find the strongest acid among the following compound

A. 

B. 

HOOC − (CH2)2 − COOH

+

NH3 − (CH2)2 − COOH

https://dl.doubtnut.com/l/_0pud1VsKjQsu
https://dl.doubtnut.com/l/_oSyyQaRRTCB4


C. 

D. 

Answer: B

Watch Video Solution

F − (CH2)2 − COOH

CH3 − (CH2)2 − COOH

8. Among the following the dissociation constant is highest

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C6H5OH

C6H5CH2OH

CH3C ≡ CH

CH3NH +
3 Cl−

https://dl.doubtnut.com/l/_oSyyQaRRTCB4
https://dl.doubtnut.com/l/_rUYcEIYb4IWh


9. Which one of the following compounds is most acidic

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cl − CH2 − CH2 − OH

10. The optically active tartaric acid is named as 

tartaric acid because it has a positive

A. Optical rotation and is derived from -glucose

D − ( + ) −

D

https://dl.doubtnut.com/l/_rUYcEIYb4IWh
https://dl.doubtnut.com/l/_grMn9q9REuNH
https://dl.doubtnut.com/l/_VN36xtKbgJQR


B.  in organic solvent

C. Optical rotation and is derived from 

glyceraldehyde

D. Optical rotation when substituted by deuterium.

Answer: C

Watch Video Solution

pH

D − ( + ) −

11. Among the following compounds  the correct order

of reaction with electrophilic reagent is 

A. 

B. 

C. 

(I − II)

II > III > I

III > I > II

I > II > III

https://dl.doubtnut.com/l/_VN36xtKbgJQR
https://dl.doubtnut.com/l/_wYlRB7qI4dh6


D. 

Answer: C

Watch Video Solution

I = II > III

12. The following reaction is described as 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

SE2

SN 1

SN 2

SN 0

https://dl.doubtnut.com/l/_wYlRB7qI4dh6
https://dl.doubtnut.com/l/_dfHPbXr7mqbM


13. Which of the following is the most stable cation?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2

+

CHCH3

CH3 −
+

C
CH3

CH3

CH3CH2CH2

+

CH2

CH +
3

14. The observed dipole moment of nitromethane is highly than

the dipole moment calculated from electronegativity of carbon,

nitrogen and oxygen atoms because of

A. hyperconjugation effect

https://dl.doubtnut.com/l/_7nO8AZJWvTEw
https://dl.doubtnut.com/l/_sjMZKibdlsze


B. resonance effect

C. inductive resonence

D. -bonding

Answer: A

Watch Video Solution

H

15. Dehydrohalogenation in presence of  is correct

represented by

A. 

B. 

C. 

D. 

OH −

https://dl.doubtnut.com/l/_sjMZKibdlsze
https://dl.doubtnut.com/l/_RVwj6yY0Ene7


Answer: A

Watch Video Solution

16. Among the following the aromatic compound is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_RVwj6yY0Ene7
https://dl.doubtnut.com/l/_fvUaWwinDOmf


17. Which of the following compounds are not arranged in order

of decreasing reactivity towards electrophilic substitution

A. Flurobenzene  chlorobenzene  bromobenzene

B. Phenol -propyl benzene  benzoic acid

C. Chlorotoluene  para-nitrotolunene -chloro-

nitrotouene

D. Benzoic acid  phenol -propyl benzene

Answer: D

Watch Video Solution

> >

> n >

> > 2 4

> > n

18. Most stable carbonium ion is :

A. 
+

CH3

https://dl.doubtnut.com/l/_PS18ef9Jy82g
https://dl.doubtnut.com/l/_V1bn81n1s1jw


B. 

C. 

D. 

Answer: C

Watch Video Solution

(CH3)3

+

C

(C6H5)3

+

C

C6H5

+

CH2

19. Which one of the following species is most stable

A. 

B. 

C. 

D. 

Answer: B

p − O2N − C6H4 −
+

CH2

p − CH3O − C6H4 −
+

CH2

p − Cl − C6H4 −
+

CH2

C6H5 −
+

CH2

https://dl.doubtnut.com/l/_V1bn81n1s1jw
https://dl.doubtnut.com/l/_OhzZj1N8z8u9


Watch Video Solution

20. Which of the following gives most stable carbocation by

dehydration

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(CH3)2CH − OH

(CH3)3C − OH

CH3 − CH2 − OH

CH3 − CH2 − O − CH2 − CH3

21. Which of the following free radicals would be expected to be

most selective?

https://dl.doubtnut.com/l/_OhzZj1N8z8u9
https://dl.doubtnut.com/l/_bjuvlxUZy7p0
https://dl.doubtnut.com/l/_i0fsAQxbPSok


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H − C ≡
.

C

H2C = CH − −
.

CH2

.

C6H5

.

CH3

22. The  effect of alkyl groups is in the order

A. 

B. 

C. 

D. None of these

+I

2∘ > 3∘ > 1∘

1∘ > 2∘ > 3∘

3∘ > 2∘ > 1∘

https://dl.doubtnut.com/l/_i0fsAQxbPSok
https://dl.doubtnut.com/l/_ifAMGo7X5hHo


Answer: C

Watch Video Solution

23. How many carbon atoms in the molecule

 are asymmetric?

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

HCOO − (CHOH)2 − COOH

1

2

3

https://dl.doubtnut.com/l/_ifAMGo7X5hHo
https://dl.doubtnut.com/l/_9jxCQN0tFcD2


24. With a change in hybridisation of the carbon bearing the

charge, the stability of a carbonion increase in the order

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sp < sp2 < sp3

sp < sp3 < sp2

sp3 < sp2 < sp

sp2 < sp < sp3

25. The  bond length of the following molecules is in the

order

A. 

C − C

C2H6 > C2H4 > C6H6 > C2H2

https://dl.doubtnut.com/l/_WxYyhJeWRL9C
https://dl.doubtnut.com/l/_nupDcb9VMXMi


B. 

C. 

D. 

Answer: B

Watch Video Solution

C2H2 < C2H4 < C6H6 < C2H6

C2H6 < C2H2 < C6H6 < C2H4

C2H4 > C2H6 > C2H2 > C6H6

26. In the reaction  a

chiral centre is produced. This product would be

A. Laevorotary

B. Meso compound

C. Dextrorotatory

D. Racemic mixture

CH3CHO + HCN → CH3CH(OH)CN

https://dl.doubtnut.com/l/_nupDcb9VMXMi
https://dl.doubtnut.com/l/_welQEyRlONVH


Answer: D

Watch Video Solution

27. Cyclic hydrocarbon molecules  has all the carbon and

hydrogen in a single plane. All the carbon-carbon bonds are of

same length less than , but more than . The 

bond angle will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

'A'

1.54Å 1.34Å C − C

109∘ 28'

100∘

180∘

120∘

https://dl.doubtnut.com/l/_welQEyRlONVH
https://dl.doubtnut.com/l/_mrgr4bEPIYdU


28. Which of the following compounds may not exist as

enantiomers?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH(OH)CO2H

CH3CH2CH(CH3)CH2OH

C6H5CH2CH3

C6H5CHClCH3

29. Number of isomers of molecular formula  are

A. 

C2H2Br2

1

https://dl.doubtnut.com/l/_mrgr4bEPIYdU
https://dl.doubtnut.com/l/_8B5nZhwFWm5I
https://dl.doubtnut.com/l/_UQxwMfi2fONU


B. 

C. 

D. 

Answer: C

Watch Video Solution

2

3

0

30. Which one of the following is an optically acitve compound?

A. propanol

B. -chloropentane

C. butanol

D. -hydroxyheptane

Answer: B

n −

2

n

4

https://dl.doubtnut.com/l/_UQxwMfi2fONU
https://dl.doubtnut.com/l/_5SYzzpNRc0dV


Watch Video Solution

31. Which of the following compounds shows optical isomerism?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CHCl − CH2 − CH3

CH3 − CH2 − CHCl − CH2 − CH3

ClCH2 − CH2 − CH2 − CH3

ClCH2 − CH2 − CH3

32. The total number of isomers of a disubstituted benzene

compound is

https://dl.doubtnut.com/l/_5SYzzpNRc0dV
https://dl.doubtnut.com/l/_QIOIiUmrX9nd
https://dl.doubtnut.com/l/_7zVQzyZxYp1P


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

2

3

4

33. Number of optical isomers of lactic acid are

A. 

B. 

C. 

D. 

1

2

3

4

https://dl.doubtnut.com/l/_7zVQzyZxYp1P
https://dl.doubtnut.com/l/_fn9t1y67U9vP


Answer: B

Watch Video Solution

34. -butane and isobutane are examples of

A. Chain isomers

B. Geometrical isomers

C. Position isomers

D. Tautormers

Answer: A

Watch Video Solution

n

35. Which of the following has chiral structure?

https://dl.doubtnut.com/l/_fn9t1y67U9vP
https://dl.doubtnut.com/l/_VCUvdw2IlE6C
https://dl.doubtnut.com/l/_sl9UmfzQ1qJF


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 −

CH3

∣

CH − CH2COOH

CH3 − CH = CH − CH3

CH3 −

CH3

∣

CH − CH2OH

CH3 − CHOH − CH2CH3

36. Which of the following pairs is an example of position

isomerism?

A.  and 

B.  and 

CH3 − CH2 − CH2 − CH3 CH3 − CH
∣

CH3

− CH3

CH3 − CH2 − CH = CH2

CH3 − CH = CH − CH3

https://dl.doubtnut.com/l/_sl9UmfzQ1qJF
https://dl.doubtnut.com/l/_7aiKz32wwdKv


C.  and 

D.  and 

Answer: B

Watch Video Solution

CH3 − CH2OH CH3 − O − CH3

CH3 −

CH3

∣

C
∣

CH3

− CH3

CH3 − CH2 − CH2 − CH2 − CH3

37. Geometrical isomerism is shown in

A. -butene

B. -butyne

C. -butanol

D. Butanal

Answer: A

2

2

2

https://dl.doubtnut.com/l/_7aiKz32wwdKv
https://dl.doubtnut.com/l/_svodch30oJjF


Watch Video Solution

38. An organic compound exhibits optical isomerism when

A. Four group linked to carbon atom are different

B. Three groups linked to carbon atoma are different

C. Two groups linked to carbon atom are different

D. All the groups linked to carbon atom are same

Answer: A

Watch Video Solution

39. How many total isomers exit for compound with composition

?C4H8

https://dl.doubtnut.com/l/_svodch30oJjF
https://dl.doubtnut.com/l/_0KQgIS1SEsQp
https://dl.doubtnut.com/l/_LPQoiq9FptWv


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2

3

4

6

40. Which of the following can exhibit cis-trans isomerism?

A. 

B. 

C. 

D. 

HC ≡ CH

ClCH = CHCl

CH3. CHCl. COOH

ClCH2 − CH2Cl

https://dl.doubtnut.com/l/_LPQoiq9FptWv
https://dl.doubtnut.com/l/_8sRl5hk5OAAl


Answer: B

Watch Video Solution

41. Mesotartaric acid is optically inactive due to the presence of:

A. molecular symmetry

B. molecular asymmetry

C. external compensation

D. two asymmetric -atom

Answer: A

Watch Video Solution

C

https://dl.doubtnut.com/l/_8sRl5hk5OAAl
https://dl.doubtnut.com/l/_LbRcHCjpfPqP


42. Which of the following compounds exhibits optical

isomerism?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2COOH

CH3CHOHCOOH

CH3CH2CH2OH

CH3CHOHCH3

43. The maximum number of stereoisomers possible for -

hydroxy- -methyl butanoic acid is

A. 

2

2

1

https://dl.doubtnut.com/l/_Dcfmz5bYIFoj
https://dl.doubtnut.com/l/_VutQPgWzyIJt


B. 

C. 

D. 

Answer: B

Watch Video Solution

2

3

4

44. which one of the following pairs represents the

stereoisomerism?

A. Geometrical isomerism,position isomerism

B. Geometrical isomerism,conformational isomerism

C. Optical isomerism,geometrical isomerism

D. Optical isomerism,metamerism

https://dl.doubtnut.com/l/_VutQPgWzyIJt
https://dl.doubtnut.com/l/_sMMorgR1noic


Answer: C

Watch Video Solution

45. Diethyl ether is not associated with which one of these

isomers

A. Butanoic acid

B. Methyl propionate

C. Stereoisomerism

D. None of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_sMMorgR1noic
https://dl.doubtnut.com/l/_e0QzVipjbms6


46. Diethyl ether and methyl  propyl ether are

A. position isomers

B. Functional isomers

C. Metamers

D. chain isomers

Answer: C

Watch Video Solution

n

47. n-Propyl alcohol and isopropyl alcohol are examples of

A. Postion isomerism

B. Chain isomerism

C. tautomerism

https://dl.doubtnut.com/l/_VMOF7MD8hyb1
https://dl.doubtnut.com/l/_q7TW9N4Xwu1o


D. Geometrical isomerism

Answer: A

Watch Video Solution

48. The isomerism exhibits by alkyl cyanide and alkyl isocyanide is

A. Functional

B. Positional

C. tautomerism

D. Metamerism

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_q7TW9N4Xwu1o
https://dl.doubtnut.com/l/_EPwfLmXIVO2v
https://dl.doubtnut.com/l/_1KB5Pr1dbye6


49. The isomers that can be interconverted through rotation

around a single bond are:

A. Geometrical isomers

B. Conformers

C. Enantiomers

D. Diastereomers

Answer: B

Watch Video Solution

50. The number of enantiomers of the compound

 is

A. 

B. 

CH3CHBrCHBrCOOH

0

1

https://dl.doubtnut.com/l/_1KB5Pr1dbye6
https://dl.doubtnut.com/l/_XD8W1ZqEKcTw


C. 

D. 

Answer: D

Watch Video Solution

3

4

51.  and  exhibit which type of

isomerism

A. Position

B. Functional

C. Dextro isomerism

D. Metamerism

Answer: B

W h Vid S l i

C6H5C ≡ N C6H5N ≡ C

https://dl.doubtnut.com/l/_XD8W1ZqEKcTw
https://dl.doubtnut.com/l/_jf5PcpCUwEd3


Watch Video Solution

52. Which of the following compounds is not chiral?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

DCH2CH2CH2Cl

CH3CH2CHDCl

CH3CHDCH2CH2Cl

CH2CHClCH2D

53. Cis-and trans -butane are

A. Conformational isomers

2

https://dl.doubtnut.com/l/_jf5PcpCUwEd3
https://dl.doubtnut.com/l/_ebkOIHRgJetR
https://dl.doubtnut.com/l/_3W8uXq9Msn6W


B. Optical isomers

C. Position isomers

D. Geometrical isomers

Answer: D

Watch Video Solution

54. Racemic mixture is formed ny mixing two:

A. Isomeric compounds

B. Chiral compounds

C. Meso compounds

D. Optical isomers

Answer: D

https://dl.doubtnut.com/l/_3W8uXq9Msn6W
https://dl.doubtnut.com/l/_mPQvttmgGlLS


Watch Video Solution

55. Which of the following does not show geometrical

isomerism?

A. dichloro- -pentene

B. -dichloro- -pentene

C. -Dichloro- -pentene

D. -Dichloro- -pentene

Answer: C

Watch Video Solution

1, 2 1

1, 3 2

1, 1 1

1, 4 2

https://dl.doubtnut.com/l/_mPQvttmgGlLS
https://dl.doubtnut.com/l/_VzfGrEmPoydC


56. Isomerism shown by

 is

A. Position isomerism

B. Chain isomerism

C. Metamerism

D. Optical isomerism

Answer: C

Watch Video Solution

CH3 − (CH2)
3

− O − CH3

CH3 − CH2 − O − CH2 − CH2 − CH3

CH3 − C
∣

CH3

H − O − CH2 − CH3

57. Of the following, the compound possessing optical isomerism

A. CH3CH2OH

https://dl.doubtnut.com/l/_isJ4Oxqtyv2T
https://dl.doubtnut.com/l/_nXTCs8Ta90Ld


B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CHClBr

CCl2BrF

CCl2F2

58. Assertion: Benzyl bromide when kept in acetone water

produces benzyl alcohol. 

Reason: The reaction follows  mechanism.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

SN2

https://dl.doubtnut.com/l/_nXTCs8Ta90Ld
https://dl.doubtnut.com/l/_F0sXSEpCmlXn


C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

59. Assetion: Carbon possesses property of catenation. 

Reason: Carbon atoms form double as well as triple bonds during

catenation.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

https://dl.doubtnut.com/l/_F0sXSEpCmlXn
https://dl.doubtnut.com/l/_PH9TdQQkfrwi


D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

60. Assertion: The order of reactivity of carbonium ions is

. 


Reason: Carbon atom in carbonium ions is in  state of

hybridisation.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is the

correct explanations of the assertion

C. If assertion is true but reason is false.

1∘ > 2∘ > 3∘

sp3

https://dl.doubtnut.com/l/_PH9TdQQkfrwi
https://dl.doubtnut.com/l/_LSBlYJlWVROt


D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_LSBlYJlWVROt

